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Section Marks : 100

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622873
Question Shuffling Allowed : Yes

Question Id : 5362281849 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table embodies the details about the enrollment of students 1n five different

streams namely IT, Management. Commerce. Science and Arts in a college during the
session 2019-20. A total number of 3500 students including 1500 girls have been enrolled in
the college. Based on the data in the table, answer the questions 1-5

Stream-wise enrollment of students

Stream Percentage (%) of students | Percentage (%) of Girls
enrolled (out of 3500) enrolled (out of 1500)
IT 20% 18%
Management 16% 12%
Commerce 12% 21%
Science 22% 11%
Arts 30% 38%

Sub questions

Question Number : 1 Question Id : 5362281850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the total number of boys enrolled in Management stream and IT stream together?

(1) 1050 (2) 810
(3) 1120 (4) 980
Options :

5362287201. 1
5362287202. 2



5362287203. 3
5362287204. 4

Question Number : 2 Question Id : 5362281851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of the number of girls enrolled in Arts to the number of boys enrolled in
science?

(1) 14: 23 2y 233
(3) 114 :121 (4)y 53:65
Options :

5362287205. 1
5362287206. 2
5362287207. 3
5362287208. 4

Question Number : 3 Question Id : 5362281852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the total number of girls enrolled in Science and Commerce streams together?

(1) 450 (2) 495
(3) 345 (4) 480
Options :

5362287209. 1
5362287210. 2
5362287211.3
5362287212. 4

Question Number : 4 Question Id : 5362281853 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



If 20% of the girls enrolled 1n Science change their stream to management. then what will be
the new number of students belonging to management stream altogether?

(1) 593 (2) 733
(3) 453 (4) 1003
Options :

5362287213. 1
5362287214.2
5362287215.3
5362287216. 4

Question Number : 5 Question Id : 5362281854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The number of girls enrolled in Arts, Science and Commerce streams together forms what
percent (%) of total number of students in the college?

(1) 25% (2) 30%
(3) 40% (4) 60%
Options :

5362287217. 1
5362287218. 2
5362287219. 3
5362287220. 4

Question Id : 5362281849 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 5362281850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 1050 (2) 810
(3) 1120 (4) 980

Options :

5362287201. 1
5362287202. 2
5362287203. 3
5362287204. 4

Question Number : 2 Question Id : 5362281851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 14:23 2 2:3
(3) 114:121 (4) 53:65

Options :

5362287205. 1
5362287206. 2
5362287207. 3
5362287208. 4

Question Number : 3 Question Id : 5362281852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 450 (2) 495
(3) 245 (4) 480

Options :

5362287209. 1
5362287210. 2
5362287211.3
5362287212. 4

Question Number : 4 Question Id : 5362281853 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 593 (2) 733
(3) 453 (4) 1003
Options :



5362287213. 1
5362287214.2
5362287215. 3
5362287216. 4

Question Number : 5 Question Id : 5362281854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 25% (2) 30%
(3) 40% (4) 60%
Options :

5362287217. 1
5362287218.2
5362287219. 3
5362287220. 4

Sub-Section Number : 2
Sub-Section Id : 53622874
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362281855 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which level of teaching uses higher level of cognitive abilities as specified 1n Bloom's
taxonomy?

(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level
Options :

5362287221. 1
5362287222.2
5362287223.3



5362287224. 4

Question Number : 6 Question Id : 5362281855 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287221. 1
5362287222.2
5362287223. 3
5362287224. 4

Question Number : 7 Question Id : 5362281856 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The teaching strategy best suited to deal with students who 1n terms of performance
readiness level are in the category of ‘able but unwilling’, will be,

(1) Assigning challenging tasks and delegation of roles
(2) Involving in tasks and providing soclo-emotional support with scope for recognition
(3) Mentoring and guiding with close supervision
(4) Keeping the tasks specific and soft
Options :
5362287225. 1
5362287226. 2

5362287227.3
5362287228. 4

Question Number : 7 Question Id : 5362281856 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

5362287225 1
5362287226. 2
5362287227. 3
5362287228. 4

Question Number : 8 Question Id : 5362281857 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are said to be the behavioural competencies 1n an effective teaching-
behawviour repertoire?

(A) Self efficacy and locus of control
(B) Planming and teaching

(C) Managing and monitoring

(D)  Evaluating and providing feedback
(E) Logical. clear and confident

Choose the correct answer from the options given below :

(1) (B). (C) and (D) only (2) (A). (B) and (C) only
(3) (A), (D) and (E) only (4) (0C), (D)and (E) only
Options :

5362287229. 1



5362287230. 2
5362287231.3
5362287232. 4

Question Number : 8 Question Id : 5362281857 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287229. 1
5362287230. 2
5362287231.3
5362287232. 4

Question Number : 9 Question Id : 5362281858 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: In a classroom assessment, a teacher finds that the distribution of students’
score 1s positively skewed. Hence, the mean of scores will be greater than

median and median will be greater than mode.

Statement II : When the distribution of students’ score 1= found to be normal. all the three

measures of central tendency colncide.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II is incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362287233. 1
5362287234.2
5362287235.3
5362287236. 4

Question Number : 9 Question Id : 5362281858 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362287233. 1
5362287234.2

5362287235. 3
5362287236. 4

Question Number : 10 Question Id : 5362281859 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Teaching-learning systems to be effective must be carefully planned.
adequately implemented and appropriately evaluated.

Reasons (R) : Effectiveness of teaching-learning systems 1s a pre-requisite for all levels
of education.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false
(4) (A) 1s false but (R) 1s true
Options :
5362287237. 1
5362287238. 2

5362287239.3
5362287240. 4

Question Number : 10 Question Id : 5362281859 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287237. 1
5362287238.2
5362287239. 3
5362287240. 4

Question Number : 11 Question Id : 5362281860 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research focuses on enhancing the corpus of knowledge 1n a given
field?

(1) Action Research (2) Applied Research
(3) Evaluative Research (4) Fundamental Research
Options :

5362287241. 1
5362287242.2



5362287243.3
5362287244. 4

Question Number : 11 Question Id : 5362281860 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287241. 1
5362287242.2
5362287243. 3
5362287244. 4

Question Number : 12 Question Id : 5362281861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research method emplovs internal and external criticism for sifting as
evidences and data?

(1) Ex post facto method (2) Experimental method
(3) Historical method (4) Descriptive survey method
Options :

5362287245. 1
5362287246. 2
5362287247.3
5362287248. 4

Question Number : 12 Question Id : 5362281861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287245. 1
5362287246. 2
5362287247.3
5362287248. 4

Question Number : 13 Question Id : 5362281862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the key features of qualitative research :

(A) Actual settings as the source of data

(B) Control. observe and measure as main operations
(C) Data take the forms of words or pictures

(D)  Concerned with participant perspective

(E) Hypothesis making and hypothesis testing

Choose the most appropriate answer from the options given below :

(1) (A), (C) and (D) only (2) (A), (B) and (C) only
(3) (B). (C) and (D) only (4) (C). (D) and (E) only
Options :

5362287249. 1
5362287250. 2
5362287251. 3



5362287252. 4

Question Number : 13 Question Id : 5362281862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287249. 1
5362287250. 2
5362287251.3
5362287252. 4

Question Number : 14 Question Id : 5362281863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: The population in research means a defined aggregate of something which 1=

the focus of study.

Statement II: A sample 1s a sub-aggregate drawn from a defined aggregate to represent it.

In the hght of the above statements, choose the most appropriate answer from the options

o1ven below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3 Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement I 1s correct
Options :

5362287253. 1
5362287254. 2
5362287255. 3
5362287256. 4

Question Number : 14 Question Id : 5362281863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287253. 1
5362287254.2
5362287255. 3
5362287256. 4

Question Number : 15 Question Id : 5362281864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Research ethics 1s a must in order to lend credibility to the research
findings and thelr use 1n authentic situations.

Reasons (R) : Application of ICT in research vouches for credibility of research results.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false
(4) (A) 1= false but (R) 1s true
Options :
5362287257. 1
5362287258.2

5362287259. 3
5362287260. 4

Question Number : 15 Question Id : 5362281864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287257, 1

5362287258, 2

5362287259. 3
5362287260. 4

Question Number : 16 Question Id : 5362281865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Immediacy of cues In communication 1s dependent upon one’s own

(1) Economic preferences (2) Cultural background
(3) Physzical fitness (4) Social expectations
Options :

5362287261. 1
5362287262. 2



5362287263. 3
5362287264. 4

Question Number : 16 Question Id : 5362281865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287261. 1
5362287262. 2
5362287263. 3
5362287264. 4

Question Number : 17 Question Id : 5362281866 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following methods help improve academic communication?

(A) Preference to vertical communication

(B) Training individual students in commumecation skills

(C) Restricting too much generation of information

(D)  Recognising cultural and hinguistic differences among students

(E) Opting for uniformity in using cultural symbols

Choose the most appropriate answer from the options given below :

(1) (A). (B). (C) only 2  (C). (D). (E) only
(3)  (B).(C). (D) only (4) (B). (D). (E) only
Options :

5362287265. 1
5362287266. 2
5362287267. 3
5362287268. 4

Question Number : 17 Question Id : 5362281866 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287265. 1
5362287266. 2
5362287267. 3
5362287268. 4

Question Number : 18 Question Id : 5362281867 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : Verbal Commumnication takes place 1n real time.

Reason (R) : Written communication 1s synchronous in character as it appears at

different intervals.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1= false but (R) 1s true

Options :

5362287269. 1
5362287270. 2
5362287271. 3
5362287272. 4

Question Number : 18 Question Id : 5362281867 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287269. 1
5362287270. 2
5362287271. 3
5362287272. 4

Question Number : 19 Question Id : 5362281868 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the emergence of the following publications :

(A) Standard newspapers
(B) MNews book

(C) News sheets

(D) Tabloids

(E) Broad sheets

Choose the correct answer from the options given below :

(1) (O (B). (A). (D). (E) (2) (D), (E). (C), (B), (A)
(3) (A). (B). (C), (E). (D) (4) (B). (C), (D). (E). (A)
Options :

5362287273. 1
5362287274.2
5362287275. 3
5362287276. 4

Question Number : 19 Question Id : 5362281868 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287273. 1
5362287274.2
5362287275. 3
5362287276. 4

Question Number : 20 Question Id : 5362281869 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT :

List I List IT
(Systems of communication) {(Focussed elements)
(A) Western (I)  Non-competitive and co-operative
(B) Indian (II) Co-existence of binary oppositions
(C) Buddhist (ITITI) Emotional variants
(D) Chinese (IV) Rhetorical devices

Choose the correct answer from the options given below :

1 (A-D. (B)-ID), (C)-(IV), (D)-(II)
(2)  (A)-@V), (B)-III). (C)-(D), (D)-(IL)
(3)  (A-ID. (B)-(IV). (O)-ID). (D)-(I)

4  (A)-OV). (B)-(I). (C)-(I1II), (D)-(II)
Options :
5362287277. 1
5362287278.2
5362287279. 3
5362287280. 4

Question Number : 20 Question Id : 5362281869 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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D) = AV) eI oA

1  @-D. (B)-II). (C)-(IV), (D)-(II)
(2)  (A)-IV). (B)-(II). (C)-(I), (D)-(II)
(3)  (A-ID. (B)-(IV). (C)-(ID), (D)-(I)

4)  (A)-IV). (B)-), (C)-(IIT), (D)-(II)
Options :
5362287277. 1
5362287278.2
5362287279. 3
5362287280. 4

Question Number : 21 Question Id : 5362281870 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Three persons are walking around a ground. They take 20. 30 and 40 minutes to complete
one round. If they start from a single point together, they will meet again at that point after.

(1) 1 hour (2) I%hour
1
(3) 2 hour (4) 2§ hour
Options :

5362287281. 1
5362287282.2
5362287283. 3
5362287284. 4

Question Number : 21 Question Id : 5362281870 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A =afed U U = FEC S R B | 36 HEM R U S99 T H HE9: 20, 30 # 40 i o an
= B | Te A Bl FREl T B T W ZEe TNY WA B A1 Thad TET % §1E 39 T WO 5o

1

(1) 192-31 (2) 15 e I
3 2H@-wm @ 2% SeaS

Options :

5362287281. 1
5362287282.2
5362287283. 3
5362287284. 4

Question Number : 22 Question Id : 5362281871 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In a class of 65 students. 27 speak Hindi, 21 speak English and 17 speak Bangla. 7 speak
only English and Hindi. 6 speak only Hindi and Bangla and 5 speak only English and

Bangla. If 12 speak only Hindi then how many speak all the three languages.

(1) 3] (2) 4
3 3 4 2
Options :

5362287285. 1
5362287286. 2
5362287287. 3
5362287288. 4

Question Number : 22 Question Id : 5362281871 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

65 Terntet anel v wen | 27 Fendl B @ied 2, 21 Bl oush aew # e 17 fHendt aven sed

21 7 Tl === U 310 a1 9ed 7, 6 Tl #am 5= A =men 9red 7 oawn 5 faEmefl wee

AU AT "0 Ao 2 | T2 12 Tl Fae =2 "o 7 91 ead el o i1 9 s #

(1) 5 (2) 4
3 3 4 2
Options :

5362287285. 1
5362287286. 2
5362287287. 3
5362287288. 4

Question Number : 23 Question Id : 5362281872 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The sum of four consecutive odd integers 1s 2160. The greatest of them 1s

(1) 327 (2) 429

(3) o037 (4) 641



Options :

5362287289. 1
5362287290. 2
5362287291.3
5362287292. 4

Question Number : 23 Question Id : 5362281872 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

IW FiHF gur foram Freett w0 3 2160 7 | 39H & T 91 JEr B -Hf 26t

(1) 327 (2) 429
(3) 237 (4) 641
Options :

5362287289. 1
5362287290. 2
5362287291. 3
5362287292. 4

Question Number : 24 Question Id : 5362281873 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A two digit number 1s 4 times the sum of its two digits. The number that i1s formed by
reversing its digits 15 27 more than the original number. What 1s the number?

(n 27 (2) 36
(3) 42 (4) b4
Options :

5362287293. 1
5362287294. 2
5362287295.3
5362287296. 4

Question Number : 24 Question Id : 5362281873 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

UF I FAFETAT TEAT A AT STH T AT H 470 2 | THE AHN 1 FH seed I 591 T g T °
27 AT9= & | §o1 HEA =4 |

(1) A (2) 36
(3) 42 (4) 54
Options :

5362287293. 1
5362287294. 2
5362287295.3
5362287296. 4

Question Number : 25 Question Id : 5362281874 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The sum of the squares of three numbers 1s 83, while sum of their products taken two at a
time 1s 71. Their sum will be

(1) 15 (2) 49
(3) 142 (4) 225
Options :

5362287297. 1
5362287298. 2
5362287299. 3
5362287300. 4

Question Number : 25 Question Id : 5362281874 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A\ HEEA % 9 A 83 2 | T W ToA® Bl HEAE R A A0 717 | 39 e w6

(1) 15 (2) 49
(3) 142 (4) 225
Options :

5362287297. 1
5362287298. 2
5362287299. 3
5362287300. 4

Question Number : 26 Question Id : 5362281875 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following Pramanas 1s accepted 1n Vaisheshika philosophy?

(A) Pratvaksha
(B) Anuméan

(C) Upaméana
(D) S'abda

(E)  Arthapatti

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only (4) (A)and (D) only
Options :

5362287301. 1
5362287302. 2
5362287303. 3



5362287304. 4

Question Number : 26 Question Id : 5362281875 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[ [l - 2 . R r - .-u . % -
Mg 9 o hiA—H THIY S99 299 | S=iH 150 IS a7

(A) Izt

(B) =AA

(C) 3THH

D) 5

(E) w39t

Fr= f22 = fameat 0 1w I =g

(1) === (A) 317 (B) (2) =Fa= (B) 311 (C)

(3) === (C) # (D) (4) == (A) F (D)
Options :

5362287301. 1
5362287302. 2
5362287303. 3
5362287304. 4

Question Number : 27 Question Id : 5362281876 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT :

Last I Last IT
(Concept/Doctrine) (School)
(A) Pratityasamudpada (I} Vedant
(B) Abha&ava (IT) Sankhya
(C) Samyavastha (III) Nyayva
(D) Adhyasa (IV) Buddhism

Choose the correct answer from the options given below :

(1 A-D. (B)-ID. (O)-(IV). (D)-(ID)
@  (A-ah. B)-av). (O)-aI). (D)-D
(3 (A)-0V), (B)-IID), (C)-1D). (D)-(D)
@ (A)-AV), B)-1). (C)-11). (D)-(I1D)

Options :

5362287305. 1

5362287306. 2

5362287307. 3
5362287308. 4

Question Number : 27 Question Id : 5362281876 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T=i-1 =1 g=i-11 5 gEfem it

-1 11

(e /fagr) (Trer=r )
(A) IR @ =
B) A (ID) ==
(C) === (I1I) =
(D) =T av) =g

(1) (A)-(D). (B)-(III). (C)-(IV), (D)-(II)
(2) (A)-(IL). (B)-(IV). (C)-(III). (D)-(I)
(3) (A)-(IV), (B)-(ITI), (C)-(II), (D)-(I)
(4) (A)-(IV), (B)-(I). (C)~(II), (D)-(I1I)

Options :

5362287305. 1

5362287306. 2

5362287307. 3
5362287308. 4

Question Number : 28 Question Id : 5362281877 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the figure of categorical syllogism. Quantity and Quality of a proposition determine :

(1) Vahidity of Syllogism (2) Mood of the Syllogism
(3) Figure of the Syllogism (4) Fallacy of the Syllogism
Options :

5362287309. 1
5362287310. 2



5362287311.3
5362287312. 4

Question Number : 28 Question Id : 5362281877 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

RESEl CE A I e e Tl 1 e e B R e e e s e 2 e L e | e eI e e G e B M e e Al e ol
E 'xEﬁl ?'l-?

(1) T =i (2) =TI A
(3) —=EEE * U (4) =IEETEE H AT
Options :

5362287309. 1
5362287310. 2
5362287311.3
5362287312. 4

Question Number : 29 Question Id : 5362281878 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT :

List I List IT
(Concept) (Philosopher)
(A) Phenomenon and Noumenon (I) Amstotle
(B) Potential and actual being (I) Descartes
(C) Mind and Body Dualism (III) Locke
(D) Primary and Secondary qualities (IV) Kant

Choose the correct answer from the options given below :

(1) (A)-D. (B)-(III). (C)-(IV), (D)-IT)
) (A)-IID. (B)-ID). (C)-(D). (D)-(IV)
(3)  (A-IV). B)-(D). (C)-(1D). (D)-(11I)
4 (A)-dD. (B)-IV), (C)-IIL), (D)-(I)

Options :

5362287313. 1
5362287314.2
5362287315. 3
5362287316. 4

Question Number : 29 Question Id : 5362281878 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T i F=-I1 & goferd il

-1 THl-11
(T (i)
(A) =2 UF TEA I =g
(B) THIEAI UF ATE{Ea® BT (D s
(C) T4 T3 TR gaag AID) =i+
(D) T T T AV) A
e fau T faet § ® @A ST g

(1)  (A)-D. (B)-(IIL). (C)-(IV). (D)-(IL)
(2)  (A)-IID), (B)-IIL). (C)-(I), (D)-(IV)
(3)  (A)-IV), (B)-T). (C)-(II). (D)-(III)
(4) (A)-(ID)., (B)-(IV). (C)-(IID), (D)-(@)

Options :

5362287313. 1
5362287314.2
5362287315. 3
5362287316. 4

Question Number : 30 Question Id : 5362281879 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

According to the law of excluded middle :

(1) A proposition could be true and false simultaneously
(2) A proposition is either true or false

(3) A proposition 1s true if it 1s true

(4) A proposition 1s neither true nor false

Options :
5362287317. 1



5362287318. 2
5362287319. 3
5362287320. 4

Question Number : 30 Question Id : 5362281879 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

afsid 757 =+ 7w =+ e

(1)  wiosiie U =19 A SN T w7 0l
(2) TGSt =7 91 HE E AYE T 7

(3)  wiasl ®al 7 92 7% ®&l 2 |

(4)  wiamfa 9 a1 92 2 3 F Ted |
Options :

5362287317. 1

5362287318. 2

5362287319. 3
5362287320. 4

Question Number : 31 Question Id : 5362281880 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

An unsolicited e-mail message sent to many reciplients at once 1s a

(1) Inbox (2) Spam
(3) Virus (4) Attack
Options :

5362287321. 1
5362287322.2
5362287323. 3
5362287324. 4



Question Number : 31 Question Id : 5362281880 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HF ACAFATAT T TH WY CHH T HIE FESG S-He 9H0F B A

(1)  ==iFH (2) |
(3) == (4) =%
Options :

5362287321. 1
5362287322.2
5362287323. 3
5362287324. 4

Question Number : 32 Question Id : 5362281881 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I: Operators are special symbols that are used to perform calculations, make
comparisons and check logical condition.

Statement II : Relational operators are used for arithmetic operations.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement IT are false

(3) Statement I 1= correct but Statement IT 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362287325. 1



5362287326. 2
5362287327.3
5362287328. 4

Question Number : 32 Question Id : 5362281881 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fo (I):  SATwer e s w2d 2 T ugi afeeed #, e S SR i feafeat i S e

= fore fofan 5man 2

STIF U F AT § ARG e 3 F w3 A
(1) o I3 I3A =8 # |

(2 w13 I =A o 2 |

(3) w1 2 g %99 [I7ed 2 |

@) w1 3EE s g F99 a8 2

Options :

5362287325. 1
5362287326. 2
5362287327.3
5362287328. 4

Question Number : 33 Question Id : 5362281882 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I : In peer-to-peer network., there 1s no central server instead each computer can
act as a server as well as a chient.

Statement IT: LAN 1s a computer network created for individual person.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II is false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362287329. 1
5362287330. 2
5362287331.3
5362287332. 4

Question Number : 33 Question Id : 5362281882 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(nH i i~ = r - R ~ r P s i 5
B (I}: HHATE l[l:rr':H A I:EH} JZd9 A Tl g™ TJd1 T80 2141 e ai:,.,h SH T T FOA e
- = Ry r B
Hal 3N U FoEE & E0 H 0 L Hhal |

FoA (ID) :  LAN =afd 5909 #q S0 =1 02t 42a 2l 7 |
IUF FYAT F AT ° ARG faEed § F 5E I =4

(1) = I3 I EH 581 7 |

(2 w1 #R I 2E 7o 2 |

3) =wEITFzFgFEIITE 2|

@ w13 2 g o 1L TF 2 |

Options :

5362287329. 1
5362287330. 2
5362287331. 3
5362287332. 4

Question Number : 34 Question Id : 5362281883 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A computer network enables two or more computers to
(1) Increase the speed (2) Share data and hardware resources
(3) Increase the work (4) Monitor the software

Options :

5362287333. 1

5362287334.2

5362287335.3
5362287336. 4

Question Number : 34 Question Id : 5362281883 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

2 FOAL T2 3 A1 3 F AT Fgd 1 FAfatad 3 @ 73 i § g9 a9 2

(1) wEaEHd (2) TTET IR ETSAAE TETGAT & HE0 A o
(3 wFE gAY (4) wiFzaE i e

Options :

5362287333. 1
5362287334.2
5362287335. 3
5362287336. 4

Question Number : 35 Question Id : 5362281884 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Full form of the abbreviation OCR 1s :

(1) Optical Character Recognition (2) Online Computer Reader
(3) Optical Computer Recognition (4) Optical Control Reader
Options :

5362287337. 1
5362287338. 2
5362287339. 3
5362287340. 4

Question Number : 35 Question Id : 5362281884 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FEeR OCR =1 71 91 2

(1)  *ATehel et R @) AT T
(3)  omfewa wogz fwrtee @) onfesa F2ie st

Options :



5362287337. 1
5362287338.2
5362287339. 3
5362287340. 4

Question Number : 36 Question Id : 5362281885 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following countries has not signed/ratified the International Solar Alliance
Framework Agreement?

(1) Australia (2) United Kingdom
(3) Japan (4) China
Options :

5362287341. 1
5362287342.2
5362287343.3
5362287344. 4

Question Number : 36 Question Id : 5362281885 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i~

FefAfEd § 8 568 39 9 32T AR IS BHET THE WO EeE /R ATEEdE Th R 2 Y

() ==l @) TS e
(3 S (4) A
Options :

5362287341. 1
5362287342.2
5362287343. 3
5362287344. 4



Question Number : 37 Question Id : 5362281886 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 12 labelled as
Reason (R) :

Assertion (A):  Energy production from blomass has traditionally been considered
carbon neutral.

Reason (R) : Carbon dioxide emissions from combustion of biomass are sequestered by
growing blomass

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 12 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options :

5362287345. 1
5362287346. 2
5362287347.3
5362287348. 4

Question Number : 37 Question Id : 5362281886 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



= 31 A R e | uw w0 ATeEwEA (A) R gE 0 as (R) FE TR |

AMTFHE (A) ATEAEE ° FoA1 Ie912A T TR £ H FIeA gZed 5T A |
r : Pty ¢ r . r x ~ P
ab (R) : HAEMEE & ged ° 3c9i=d FEA SEATFEES A EEAC eI e il S9YHET = TeTd
T Z |

I9GFA FUET o ATATR § FiEd e O ° wE I g

(D) (A 3R R) ZH & E 3 (R), (A) i T = 2
@ (A 3R R) I F 2 W R). (A) F TE = E 2
3 (A= 29 (R) T=E 7 |
4  (A) 7T 2 T (R) TR 2

Options :

5362287345. 1

5362287346. 2

5362287347.3
5362287348. 4

Question Number : 38 Question Id : 5362281887 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For wind power electricity generation which among the following type of rotors 1s most
commonly used?

(1) Multiblade rotor (2) Propeller rotor

(3) Savonius rotor (4) Darrieus rotor

Options :
5362287349. 1



5362287350. 2
5362287351. 3
5362287352. 4

Question Number : 38 Question Id : 5362281887 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEH HH1 3918 B HeeTigd § H TRE TR % guih (T2T) W |9 9 wartas 5= R s 2 v

(1)  wdiecds T (2) YR T
(3) AT U (4) Sfm T
Options :

5362287349. 1
5362287350. 2
5362287351.3
5362287352. 4

Question Number : 39 Question Id : 5362281888 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Chronic toxic effects result from single dose of very high toxic substance or

continuous exposure of sub lethal dose.
Statement I : Acute toxic effects are long lasting and irreversible mainly caused due to

prolonged exposure to toxins and survival rate 1s very low.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement IT 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362287353. 1
5362287354.2
5362287355. 3
5362287356. 4

Question Number : 39 Question Id : 5362281888 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A= 21 e T e E

FgT (): i sAiaF = 9519 F @ St SF%E ST 9WE 9ad F Had S G Hiew
oot T % =9 A A 2

Foa (I[) : 997 a7 79 daEtas 3 A9FATE 2h 2| 3 T9E o o9 a% G99 12w
TrYE § B o UfaEed 29 & a9 39 9t | S99 % 99 99 i 2 F9 a6 2

SUA HYAT F ATATH | =AwG e 8 ¥ w3 A

(1) == I3 MM =8 2 |

(2) oA I3 2 Ted 2 |

(3) w15 2 g Fo Il 7ed 2 |

4) = [ 5 7 g A &1 7 |
Options :
5362287353 1
5362287354.2
5362287355. 3
5362287356. 4

Question Number : 40 Question Id : 5362281889 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following goals are related to millennium Development Goals?

(A) Improving maternal health

(B) Controlling depletion of ozone laver

(C) Improving the life of slum dwellers

(D)  Creating smart city infrastructure

(E) Promoting gender equality and empowerment of women

Choose the most appropriate answer from the options given below :

(1) (A). (C) and (E) only (2) (A), (C), (D) and (E) only
(3)  (A). (B). (C) and (E) only (4) (A). (B). (D) and (E) only
Options :

5362287357. 1

5362287358. 2

5362287359. 3
5362287360. 4

Question Number : 40 Question Id : 5362281889 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FAfaiEd 3 3 FH- Z2va HEEled [ e 5 matad 7 ¢

(A) g =EA T guR

(B)  SATH WA H & i A e

(C)  wfer sfial o 4 ot AT % AT d GUE e

(D) TR A SEE giaa

F= 7 ™ e § § T IR 96T
1) FF Q). (©) 3 E) @ ¥ (A). (O). D) 3 (E)
(3)  Fa (A). (B). (C) ¥ (E) @ ¥ (A). (B). D) 7 &)

Options :
5362287357. 1



5362287358. 2
5362287359. 3
5362287360. 4

Question Number : 41 Question Id : 5362281890 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The Universities centered on the viharas during the Ancient India Period were situated at

(A) Navadeep
(B) Nalanda
(C) Valabhi
(D) Jagaddala

(E) Kanchi

Choose the correct answer from the options given below :

(1) (A). (B). (C) only (2) (B, (C), (D) only

(3) (C). (D). (E) only (4) (D), (E). (A) only
Options :

5362287361. 1
5362287362. 2
5362287363. 3
5362287364. 4

Question Number : 41 Question Id : 5362281890 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T HRA § [9ER Fied favataaes Hefaiga 5 9 e e w fwm 97

(A) e

(B) AE

(C)  doordl

D) =g

(E) =il

e fo1 T et | @ R e g

1)  Fa A, B). (© @ F (B). (0). D)
(3) === (C). (D). (E) (4) == (D). (E). (A)

Options :

5362287361. 1
5362287362. 2
5362287363. 3
5362287364. 4

Question Number : 42 Question Id : 5362281891 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the steps followed 1n the process of value clarification :

(A) Students are presented with an 1ssue

(B) Students suggest alternative solutions

(C) Students express their feelings about each alternative
(D) Students consider the consequences of each alternative

(E) Students express their preferences and make a choice

Choose the correct answer from the options given below :

(1) (A, (B). (C). (D). (E) (2) (A, (B). D). (C). (E)
(3) (A, (C). (B). (D). (E) (4)  A). B). (E). (C). (D)
Options :

5362287365. 1
5362287366. 2
5362287367. 3
5362287368. 4

Question Number : 42 Question Id : 5362281891 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T TSR] ST H SO AT = S S

Q)  TeEmefai # ow e faam S 2

B)  TaEneft SwfEE T g 3
(C)  Taensft wes fahea % a1 9 3191 WEA T wd # |
(D) Tt weaw e = afomat W fa=m w3 2

(E)  Teremedt s19+t mufaerare == #7d & 31 U oo 9d 7

Fr fau T et 8 @ w8 3w g
(1) (A). (B). (C). (D). (E) (2) (A, (B). (D). (C), (E)
(3) (A). (O), (B), (D). (E) 4) (A). (B). (E). (C). (D)

Options :

5362287365. 1
5362287366. 2
5362287367. 3
5362287368. 4

Question Number : 43 Question Id : 5362281892 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

As per the recent All India Survey on Higher Education. the Gross Enrollment Ratio (GER)
in Higher education for the yvear 2018-19. in India 1s

(1) 24.6% (2) 25.6%
(3) 26.3% (4) 27.8%

Options :
5362287369. 1
5362287370. 2



5362287371. 3
5362287372. 4

Question Number : 43 Question Id : 5362281892 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

foea = @era 4 =1 71 9 fopu T sifige v odew F AR, 9 9 99 2018-19 7F I=2 e ° wwa
T ST (S 3 9W) B -

(1) 24.6% (2) 25.6%
(3) 26.3% 4 27.8%
Options :

5362287369. 1
5362287370. 2
5362287371. 3
5362287372. 4

Question Number : 44 Question Id : 5362281893 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

UGC portal "e-SARTS’ 1s for

(1) Special Assistance for Research in Technology and Sciences
(2) Special Assistance for Research and Traiming in Sciences
(3) Support for Academic and Research Training in Social Sciences

(4) Scholarship-Fellowship Award Registration Tracking System

Options :

5362287373. 1
5362287374.2
5362287375. 3
5362287376. 4



Question Number : 44 Question Id : 5362281893 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

7 51 =i 9 ‘e-STARTS' Ftainad § | o fom 27
(1) o st dtafef 4 sgEam = o fagm wsma
(2  fawm ¥ ufiemr 3t sgEE % foo e |
(3)  THTH AT W WiaE U Iy wiEe e qmea

Options :

5362287373. 1

5362287374.2

5362287375.3
5362287376. 4

Question Number : 45 Question Id : 5362281894 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

An 1nstitution in the flield of higher education desirous of getting the status of ‘Deemed to be
University’ has to fulfill the following criteria :

(A)  The institution must be at least 10 years old

(B) Its NAAC CGPA 1s atleast 3.26

(C) It figures in top 100 ranks of NIRF in overall category of institutions and universities.
(D)  Teacher student ratio in the institution 1s at least 1:20

(E) Number of teachers (faculty) 1s atleast 50.

Choose the correct answer from the options given below :

(1)  (A). B). (C) and (D) only (2) (B). (C) and (D) only
(3) (B). (C). (D) and (E) only (4) (A). (C). (D) and (E) only



Options :

5362287377. 1
5362287378. 2
5362287379. 3
5362287380. 4

Question Number : 45 Question Id : 5362281894 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

v=da e % &@ H WiHa FvataEres (Srs 7 o JFatad) w1 3= o Al = wEd ael R e
(A)  HE H FE A FE gE A WA A =i

(B)  F9F 4% (NAAC) #1 &1 3 ff v %8 & %9 3.26 =

(C)  =EmAl i favatere= +i 99 4 9 v A 91 UF % 309 100 T 9 351 919 26 =180 |
(D) =& 9 T -Taendi FATE FH o =9 1:20 BT =0T |

(E)  foreg=t (qma) =1 e %9 @ %8 50 7 |

(1) =4 (A). (B). (C) 3T (D) (2) == (B), (C) # (D)
(3)  F=4 (B). (C). D) 31 (E) (4) F== (A). (C). D) = (E)
Options :

5362287377. 1
5362287378.2
5362287379. 3
5362287380. 4

Sub-Section Number : 3
Sub-Section Id : 53622875
Question Shuffling Allowed : Yes



Question Id : 5362281895 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (46 to 50)

Question Label : Comprehension

Read the passage carefully and answer questions from 46 to 50.

People seldom continue to do things that do not provide positive reinforcement, either
through external reward or internal satisfaction. In addition to its effect on the continuation
of a particular behaviour, extinction can also have an emotional impact. We could predict, for
example. with an excellent chance of being correct, that an employvee will become surely, will
complain more than before, or will have problems getting along with his co-workers.
Emotional behaviour usually accompanies extinction when reinforcement or punishment is
withheld. Parents often extinguish behaviours umintentionally when they pay attention only
when their children are behaving poorly. If parents pay little or no attention when the
children are behaving appropriately, they in a sense, put the behaviour on extinetion. A child
who wants attention — a reward — from the parents may be willing to endure what the
parents think is punishment to get it. So, in the long run. the parents might be reinforcing
inappropriate behaviour: yvet it happens all the time. This phenomenon iz also very common
in the world of work. For example, a manager’s work/group had responded well to a high
task-low relationship. dealing firmly with inappropriate behaviour. Now suddenly this style
1s not achieving results, and followers are being disruptive and making unreasonable
demands. Positively reinforcing inappropriate behaviour generally results In more unwanted
behaviour.

Sub questions

Question Number : 46 Question Id : 5362281896 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What do people need to continue working for internal satisfaction?

(1) Some threat

(2) Some emotional reaction

(3) Some pleasant experience after the behaviour occurs
(4) Threat mixed with something pleasant

Options :

5362287381. 1
5362287382.2
5362287383.3
5362287384. 4

Question Number : 47 Question Id : 5362281897 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When a reinforcement 1s withheld from a worker. 1t may lead. inter alia, to

(1) expectation of getting something pleasant
(2) decrease 1n complaining behaviour
(3) expectation of threats

(4) evocation of negative emotions

Options :

5362287385. 1
5362287386. 2
5362287387.3
5362287388. 4



Question Number : 48 Question Id : 5362281898 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When the unintended neglect of appropriate behaviour results in
(1) extinction of that behaviour

(2) seeking reward for appropriate behaviour

(3) positive reinforcement

(4) further occurrence of the original behaviour
Options :

5362287389. 1
5362287390. 2
5362287391.3
5362287392. 4

Question Number : 49 Question Id : 5362281899 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Positively reinforcing inappropriate behaviour 1s an error because 1t results 1n

(1) continuation of inappropriate behaviour
(2) dropping of inappropriate behaviour
(3) misbehaviour
(4) negative emotions
Options :

5362287393. 1
5362287394. 2
5362287395.3
5362287396. 4

Question Number : 50 Question Id : 5362281900 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The focus of the passage 1s on

(1) reward and punishment policies In an organisation

(2) high risk relationship between managers and workers

(3) the managerial attitude towards workers

(4) the negative consequences of positive reinforcement
Options :

5362287397. 1
5362287398. 2
5362287399. 3
5362287400. 4

Question Id : 5362281895 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)

Question Label : Comprehension



Trefetias Te i SAAEE Ui 3 3EE STEN W Uv WA 46 § 50 T % UAl I S

P

SN IS & 37 FE1 F Tl 2 (990 307 GRRCAF Tee aEd TR AYdT SAais aqie g A8 Hear
AferR aitfeate § w9 59 =i G9EET T9d 50 T8 99 GFd 7 6 RS SAHHH] 56 Jeid Feaes + 2
T 3 SN 7 G919 AW Y 4 9 B o0 2 S9El 3 SATAEHEl O gaeE 0 gEE Sl |

FFTHF AR T TG H HETHI 7 9e UEeR AYEl 5% Hang w5 wen 7 | st q
e 50 Wi AU W=l % AR e =i ufia 5 w1 39 £ 3 9 oIm 24 2 oe W= w0e 2EEn B
2 | gfz wfET 3G 29 4 96 s die HaEr USRid % 1E F, 9 41 T % e S 3d 7 oAl |

UF 3fY ¥ IW SHFER Fi {9 H Uiy ¥ o 5 | 39 @0 § 99 s SO 9rEda] & S HE9E® gRy e

T T8 3 (ATy9=F 33 T9sd 2, T0 W A 5 SeAuiedl (9 T 7 | 36 A99EE 39 96

= F TEfeid # 3d 7 99 7 T4 =med £ 90 e Afus I9I9d SRR 1 {9 # 34 7 | U Har
it witfcafaat 4 3@ o & i G 0 w5 F5 9 S9Esd S9gen F TEtad a G w16 7 |
qufy 7% = T99 =7 A 2 | 9% Tl w9 1 o e e w2 | SEend, veas #oUE

=
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SATEAM SRR H Tega® U TAT 7 | ST 97 Sell Fifod 9Heng FE 2 U £ 997 T8 2@d H e
7 T medt fame=s i gfoem 4 o0 9@ 2 991 9 18T A2F 6 i =@Ed B | g8 Wsel § AIgad SHean
I TR Afd U wEled F 1 A o 7E w2 2 e S s AaEdE s 26
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Sub questions

Question Number : 46 Question Id : 5362281896 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ST 1 AT Gare & Tad FE AR W@ F 00 7 = A 5 w6 2 7

(1) EzzileE At lore
(2) TS SEATHS T
3 Fd AR 2 WW AH=ETF AT

(4) TP ges TidiEman & =@y auh

Options :

5362287381. 1
5362287382.2
5362287383. 3
5362287384. 4

Question Number : 47 Question Id : 5362281897 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

W TRE AT W WS B SAa%g TRAT AT 7 a1 SEeR UG 34 ||l 'i-Ey eiengd 0 o

g o =il 27

(1) % TEs TH i ATHE

(2)  forFmEa # a =IEEr J
(3)  wmTHAT I T

(4)  TEEHAF qEAAT H I

Options :
5362287385. 1



5362287386. 2
5362287387. 3
5362287388. 4

Question Number : 48 Question Id : 5362281898 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T=l o 1o I ARl =l ey w9 4 Ht 3uan e SH i iont B 2

(1) 9 =9sd & A9 |

(2) 999 =MEER F [0 TERR F 0 A 1

(3) AFRTHF Taed o

(4) W =EE % 9= | gfed w6 |
Options :
5362287389. 1
5362287390. 2
5362287391. 3
5362287392. 4

Question Number : 49 Question Id : 5362281899 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

THEHF T H TSieid A 909 SAaER U 9ol 7 I 3l THd Bl 7

(1) 7994 =J9=R 90 & 4
@) T R o |
(3) FEERH

(4)  TFEOCHF WA

Options :

5362287393. 1
5362287394.2
5362287395. 3



5362287396. 4

Question Number : 50 Question Id : 5362281900 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

=0 e w1 FefetEa 1 9 e w2

(1) T 977 | TEFR 31F 23 et Jiaa ™
(2)  TEEE S SAERET % A R Fiigs 9 ey W
(3) Ay % i weudE gm

(4) OFcHT Taed & TFRIHF 90y

Options :

5362287397. 1
5362287398. 2
5362287399. 3
5362287400. 4

PART II Bodo
Section Id : 53622826
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622876
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362281901 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
S BT HYE G ;

2. g4 HYT§ )
3. 7Y A BT
4, T g1

Options :

5362287401. 1
5362287402. 2
5362287403. 3
5362287404. 4

Question Number : 51 Question Id : 5362281901 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

SH e AyE IEEy

2. g4 HYT3 )
3. 7Y gLEEEE YT
4. T 91T

Options :

5362287401. 1
5362287402. 2
5362287403. 3
5362287404. 4

Question Number : 52 Question Id : 5362281902 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CRREUIRIERIFERE T E

1. {910 $AR §&
2. AigH He §&l
3. PR FHAR]

4, <0 ofgd

Options :

5362287405. 1
5362287406. 2
5362287407. 3
5362287408. 4

Question Number : 52 Question Id : 5362281902 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

¢ G YIS 3 -

1. a0 AR 57
2. g Hg4 §g
3. GPHR SYAAR]

4, U &gl

Options :

5362287405. 1
5362287406. 2
5362287407. 3
5362287408. 4

Question Number : 53 Question Id : 5362281903 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



¢ gq YAdsH 94 Y JUEAI (genre) WHYRA :

1. gq gaard

2. 7S

3. AR

4. TS U (myth)

Options :

5362287409. 1
5362287410. 2
5362287411.3
5362287412. 4

Question Number : 53 Question Id : 5362281903 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

X gd YA 94 HFY AEERAI (genre) SHYRR

1. gd eyl

2. 7Ug

3. HRIR

4. TS I (myth)

Options :

5362287409. 1
5362287410. 2
5362287411. 3
5362287412. 4

Question Number : 54 Question Id : 5362281904 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T TAEYRE gYHUE!
1. {ysf tugd

2. P AR §YHIR]
2. Wl.fE. qUEREH
4, A HeT o

Options :

5362287413. 1
5362287414.2
5362287415. 3
5362287416. 4

Question Number : 54 Question Id : 5362281904 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I GaeyNEl gYFITG
1. s wuga

2. AR §YHIR]
3. vl fe. TuSREH
4, AlgH HeT o

Options :

5362287413. 1
5362287414.2
5362287415. 3
5362287416. 4

Question Number : 55 Question Id : 5362281905 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



“HHAR 3R Al Aral GTs fSeer gre sifaReaH

. 2015
. 2017
2019
. 2018

B e o B

Options :

5362287417. 1
5362287418.2
5362287419. 3
5362287420. 4

Question Number : 55 Question Id : 5362281905 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1. 2015
2. 2017
3. 2019
4. 2018

Options :

5362287417. 1
5362287418. 2
5362287419. 3
5362287420. 4

Question Number : 56 Question Id : 5362281906 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



fearad YA HEaYEE! OR TTUHa i |

1. T T
2. HERH Y
3. 3T o
4, G R T

Options :

5362287421. 1
5362287422.2
5362287423. 3
5362287424. 4

Question Number : 56 Question Id : 5362281906 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

foraradr YA HaUEE! OR U ;

1. T E
2. RMH aE
2. 3T wEl
4, GATE YR &

Options :

5362287421. 1
5362287422. 2
5362287423.3
5362287424. 4

Question Number : 57 Question Id : 5362281907 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



-

THE-TG 7 SR IGUSE] GR THhe A

RRHE RIS

2. HH-eH HHER]
3. UHG 9% odl

4. SSAY HAR]

Options :

5362287425. 1
5362287426. 2
5362287427. 3
5362287428. 4

Question Number : 57 Question Id : 5362281907 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

THEAT A FTURT IFUISE! IR FHHEHA -

1. ¥ wret

2. A=A HHBRI
3. UHG 9= dg

4, TS BN

Options :

5362287425. 1
5362287426. 2
5362287427. 3
5362287428. 4

Question Number : 58 Question Id : 5362281908 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TR T e T OR e

HERMA X
A

. HEA &
4. T&7T=d drarl

Options :

5362287429. 1
5362287430. 2
5362287431.3
5362287432. 4

FERE N

Question Number : 58 Question Id : 5362281908 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HYRH S
LA

. Held s
R FUESESIGIR]]

Options :

5362287429. 1
5362287430. 2
5362287431. 3
5362287432. 4

T

Question Number : 59 Question Id : 5362281909 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e ad Fg e Yg T femer oEm

1. fFofear

2. HNd-al

ERPIRIAE R

4. HH TlaG
Options :
5362287433. 1
5362287434.2
5362287435. 3
5362287436. 4

Question Number : 59 Question Id : 5362281909 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HiaeHad sg e g g fosrer JEm

1. fFofcar

PRRIRGE]

3. BE G A

4. AU EaG
Options :
5362287433. 1
5362287434. 2
5362287435.3
5362287436. 4

Question Number : 60 Question Id : 5362281910 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Tt i gamr TRl aeaial -

. SGET S/ Haai
.G g gHre fafeamai= gami
LS QBRI HEE rami

B s I

Options :

5362287437. 1
5362287438. 2
5362287439. 3
5362287440. 4

Question Number : 60 Question Id : 5362281910 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

faemtaf i gamr TRl SvEra! -

. SYET S WE
.8 e g fafeqmi= grami
LS QBRI ISHEE grami

B

Options :

5362287437. 1
5362287438. 2
5362287439. 3
5362287440. 4

Question Number : 61 Question Id : 5362281911 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



faRifaf 4 gam TRl st

1. ST FEEE e
2. § T Oas fafE=aE 9aemi
4

LT BRI ST 9l
. TSR TGRS Ta

Options :

5362287441. 1
5362287442. 2
5362287443. 3
5362287444. 4

Question Number : 61 Question Id : 5362281911 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fIRIR 4R gemn TRl Svara

1. SN AE/EE 91

2. 9 e o fafgamaf g
3. ¢ BRI THE™ 9IaTR

4. AEER TYBRA I9HE™ 9Emi

Options :

5362287441. 1
5362287442. 2
5362287443. 3
5362287444. 4

Question Number : 62 Question Id : 5362281912 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



a3 Tai [fe wurs forer oeam

1. WIS HYTS _

2. R Tfe e 3R oiRe
3. WIS faorg

4. 1M @] g

Options :

5362287445. 1
5362287446. 2
5362287447. 3
5362287448. 4

Question Number : 62 Question Id : 5362281912 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

¥ JaH e G13 fooirdr sem

1. 913 HYTS _

2. T TC e SR emRe
3. WIS fadld

4, ST SER]H g

Options :

5362287445. 1
5362287446. 2
5362287447. 3
5362287448. 4

Question Number : 63 Question Id : 5362281913 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



R g aifge srdsRA HEfeHm A6

1. J=

2. Y™

3. A

4. SigH 1
Options :
5362287449. 1
5362287450. 2

5362287451. 3
5362287452. 4

Question Number : 63 Question Id : 5362281913 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"R g FIfga SrdsRA HAfoHm A6

1. A A

2. JIFYH

3. HHd

4, gl 1
Options :
5362287449. 1
5362287450. 2

5362287451. 3
5362287452. 4

Question Number : 64 Question Id : 5362281914 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YABTAUIZA (catharsis) 1 31T Sier :

1. Emotion

2. Purgation

3. Clearification
4. Justification
Options :
5362287453. 1
5362287454.2
5362287455. 3
5362287456. 4

Question Number : 64 Question Id : 5362281914 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

YTBTTUTZAT (catharsis) 1 37ifdar Sar -

1. Emoticon

2. Purgation

3. Clearification
4, Justification
Options :
5362287453. 1
5362287454.2
5362287455. 3
5362287456. 4

Question Number : 65 Question Id : 5362281915 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TR/ 8H1Y g6 [aoaw! ey S Geg e -

. AT YRG!
DI DR
 ATO-TE

4, Hifed &UH

Options :

5362287457. 1
5362287458. 2
5362287459. 3
5362287460. 4

[FUT N

Question Number : 65 Question Id : 5362281915 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEMEE 8H1Y §¢ [aoaw! ey Sfersis GogHH :

. g YRl
BIATGPR
ATI-TE
4. Gifed GU-

Options :

5362287457. 1
5362287458. 2
5362287459. 3
5362287460. 4

[TER N

Question Number : 66 Question Id : 5362281916 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Satire W4T HI dIgH IERER) =

. Descriptive poetry
. Narrative poetry
. Lyrical poetry

L S

. Dramatic poetry

Options :

5362287461. 1
5362287462. 2
5362287463. 3
5362287464. 4

Question Number : 66 Question Id : 5362281916 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Satire T AT STEFIH TS ;
1. Descriptive poetry

. Narrative poetry
. Lyrical poetry

FE VE N S

. Dramatic poetry

Options :

5362287461. 1
5362287462. 2
5362287463. 3
5362287464. 4

Question Number : 67 Question Id : 5362281917 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362287465. 1
5362287466. 2
5362287467. 3
5362287468. 4

Question Number : 67 Question Id : 5362281917 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fefrar gaarar 9R 19 SargiaE -

e g &
BRI a8
AT S
4. 30 &

| R

Options :

5362287465. 1
5362287466. 2
5362287467. 3
5362287468. 4

Question Number : 68 Question Id : 5362281918 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



., i

Comparative Literature g ?:El Hlscl (ﬂlﬁlukﬂlkﬁﬂq HH :

. 1956
. 1848
. 1915

4. 1856
Options :
5362287469. 1
5362287470. 2
5362287471. 3
5362287472. 4

LD R

Question Number : 68 Question Id : 5362281918 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

., i

Comparative Literature GIGI€T Hisc STGRwTo-GHA :

. 1956
. 1848
. 1915

4. 1856
Options :
5362287469. 1
5362287470. 2
5362287471. 3
5362287472. 4

[

Question Number : 69 Question Id : 5362281919 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TRE! Comparative Literature I [®1 894 g1 :

. Rene Wellek

. Georg Brandes
. Mathew Arnold
. H.M. Posnett

PR VS R S

Options :

5362287473. 1
5362287474.2
5362287475.3
5362287476. 4

Question Number : 69 Question Id : 5362281919 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

@l Comparative Literature 1 f[a®1 89 g1 -

. Rene Wellek

. Georg Brandes
. Mathew Arnold
. H.M. Posnett

= S R N R

Options :

5362287473. 1
5362287474.2
5362287475. 3
5362287476. 4

Question Number : 70 Question Id : 5362281920 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



“Comparative Literature” Hﬁﬁﬁﬁ@?ﬁ? RGIH :

1. Mathew Arnold
2. H.M. Posnett
3. Rene Wellek
4, Rene Estiemble

Options :

5362287477. 1
5362287478. 2
5362287479. 3
5362287480. 4

Question Number : 70 Question Id : 5362281920 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“Comparative Literature” Hﬁﬁﬁﬁ@?ﬁ? RGIH :

1. Mathew Arnold
2. H.M. Posnett
3. Rene Wellek
4, Rene Estiemble

Options :

5362287477. 1
5362287478. 2
5362287479. 3
5362287480. 4

Question Number : 71 Question Id : 5362281921 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



¥ Yy R oGt

Ca N o
oAl if

a

Options :

5362287481. 1
5362287482.2
5362287483. 3
5362287484. 4

Question Number : 71 Question Id : 5362281921 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T YA R egl

Ca o O
oAl if

a

Options :

5362287481. 1
5362287482.2
5362287483.3
5362287484. 4

Question Number : 72 Question Id : 5362281922 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T VA ERI gREBRMA TeTs Te Ay g Wi giai= Hee 141 RaRrr amel

[

2.d

3.4

4.®
Options :
5362287485. 1
5362287486. 2
5362287487. 3
5362287488. 4

Question Number : 72 Question Id : 5362281922 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T VA R SREBRMA TeTs el A1 4 Ui gl Hew 141 e sE!

=
=
CH

[N

+

5
Options :
5362287485. 1
5362287486. 2
5362287487. 3
5362287488. 4

Question Number : 73 Question Id : 5362281923 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



& T TR AR A1 TR g 9iat

1%

230

3. 3l

4. 3l
Options :
5362287489. 1
5362287490. 2

5362287491. 3
5362287492. 4

Question Number : 73 Question Id : 5362281923 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

& T TR AR A1 TR g 9iat

1%

230

3. 3l

4. 3l
Options :
5362287489. 1
5362287490. 2

5362287491. 3
5362287492. 4

Question Number : 74 Question Id : 5362281924 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T I fasITaT Ared HEReEH

1: 1595
2. 1972
3. 1999
4, 2003
Options :
5362287493. 1
5362287494. 2

5362287495. 3
5362287496. 4

Question Number : 74 Question Id : 5362281924 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1: 19895
2.1972
3. 1999
4, 2003
Options :
5362287493. 1
5362287494. 2

5362287495.3
5362287496. 4

Question Number : 75 Question Id : 5362281925 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



IgTCA gig 91 el

1. SFEHME

2, dIf e

3. fe=l

4. gl
Options :
5362287497. 1
5362287498. 2

5362287499. 3
5362287500. 4

Question Number : 75 Question Id : 5362281925 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T HigiEl ol ;

1. SHET

2. difHd

3. fe=l

4. qicl
Options :
5362287497. 1
5362287498. 2

5362287499. 3
5362287500. 4

Question Number : 76 Question Id : 5362281926 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



a1 9Igl 9igial el
e

RECH

BRIy

4,

L ka

Options :

5362287501. 1
5362287502. 2
5362287503. 3
5362287504. 4

Question Number : 76 Question Id : 5362281926 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

9dId 9rgl 9igEl gl
BEEl

Rienine)

4,

L ka

Options :

5362287501. 1
5362287502. 2
5362287503. 3
5362287504. 4

Question Number : 77 Question Id : 5362281927 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T A Aiale SgaTd 94 f99m1a W9 g St gethal ;

3. foar

4. feaman
Options :
5362287505. 1
5362287506. 2
5362287507. 3
5362287508. 4

Question Number : 77 Question Id : 5362281927 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

¢ A gl SgaTd 94 faamTa uaf igEn 9ifds gethal

M
AHT
3. foar
4. feamn
Options :
5362287505. 1
5362287506. 2
5362287507. 3
5362287508. 4

SRS

Question Number : 78 Question Id : 5362281928 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



M/ gd B TaEi-2ar SiUsT s3 R HgHEe! TRERA!

1. GEEAR 4™

2. dfs e geEar
3. Gl 1Y greTEal
4. @l

Options :

5362287509. 1
5362287510. 2
5362287511.3
5362287512. 4

Question Number : 78 Question Id : 5362281928 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T/ 96 A Ja@Ei-uar SRS s 3R SaHEel TR -

1. GEETEIR TR

2. i fef=r el
3. 91 3 GIeEal
4. %@l

Options :

5362287509. 1
5362287510. 2
5362287511.3
5362287512. 4

Question Number : 79 Question Id : 5362281929 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2. I IeTaRr
3. SEEHM BRER &3
4. 3% GG IS gl

Options :

5362287513. 1
5362287514.2
5362287515. 3
5362287516. 4

Question Number : 79 Question Id : 5362281929 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

2. §FEHA Iseidl
3. I5UEHM BRER g
4. 37 G I/ gl

Options :

5362287513. 1
5362287514.2
5362287515. 3
5362287516. 4

Question Number : 80 Question Id : 5362281930 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



3¢ MY BRI IR Brd 1 74 gt -

2. HARAlg

3. EFI Ud] {alH

4, [
Options :
5362287517. 1
5362287518.2
5362287519. 3
5362287520. 4

Question Number : 80 Question Id : 5362281930 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

3¢, YR Te1T Brd 7T f5 gt

2. HARAlg

i S

4, [
Options :
5362287517. 1
5362287518. 2
5362287519.3
5362287520. 4

Question Number : 81 Question Id : 5362281931 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



BRI g6 TolTUl BRaHE U (&R siivagar et BRgem
HE|DIG]

T
. SEETAE

4. BT WA

Options :

5362287521. 1
5362287522.2
5362287523. 3
5362287524. 4

W

Question Number : 81 Question Id : 5362281931 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

BRI g6 ToUE BREHE TR (&R siiagar st BRgemr
HEIDIG]

=5

LERRG]
. SYATEE

4. BId WIgAd

Options :

5362287521. 1
5362287522.2
5362287523. 3
5362287524. 4

W

Question Number : 82 Question Id : 5362281932 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Hrgfoed! daard Y+ -

1. dYMAd

2. Hrgiod @drd

3. diqidd

4. G NUIE
Options :
5362287525. 1
5362287526.2

5362287527. 3
5362287528. 4

Question Number : 82 Question Id : 5362281932 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

qrsfocd! daard Y4 -
1. a9
2.4 ﬁﬁf“l qdid
3. digidid
4. G UG
Options :
5362287525. 1
5362287526.2

5362287527. 3
5362287528. 4

Question Number : 83 Question Id : 5362281933 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT SRH ST 98 JAEE] ol

1. GHGTS |aTH

2. Sgdrs JiaaH

3. QR gra-H

4. Toare 93 9
Options :
5362287529. 1
5362287530. 2
5362287531. 3
5362287532. 4

Question Number : 83 Question Id : 5362281933 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A sH ST 96 HH9E] o]

1. Wgrg 91gaH

2. 5adrg 9aH

3. Qi graaH

4. ToaTd dex graAH
Options :
5362287529. 1
5362287530. 2
5362287531. 3
5362287532. 4

Question Number : 84 Question Id : 5362281934 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A =1 g1ay aHrE! g8

1. Tl

2. BRI

4, TG
Options :
5362287533 1
5362287534.2

5362287535.3
5362287536. 4

Question Number : 84 Question Id : 5362281934 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T A1 g1ay dERdl g1

el
I

Ry
e

Options :

5362287533. 1
5362287534.2
5362287535. 3
5362287536. 4

Bow N e

Question Number : 85 Question Id : 5362281935 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HTEIE, AT 9181 SR a6 ARTwiE! Slare aHr

1. 9

2. 9al

3.8

4. BRI
Options :
5362287537. 1
5362287538. 2

5362287539. 3
5362287540. 4

Question Number : 85 Question Id : 5362281935 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HTEIE, AT 9151 SR ad AwiE! STare s

1. FiTe

2. 9al

3.0

4. TR GG
Options :
5362287537. 1
5362287538. 2

5362287539.3
5362287540. 4

Question Number : 86 Question Id : 5362281936 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SR FIAE-TETE GIars @reid (S a1 T 18 ) At e

1. i TR @RE)
2. AN

3. B! 4G

4, 1B fag

Options :

5362287541. 1
5362287542.2
5362287543.3
5362287544. 4

Question Number : 86 Question Id : 5362281936 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

SR GIAE-ETE Wiald @reid (&H1 a1 T8 SEE) 9Hts dae

1. 9 TTRH @RE)
2. A1

3. B! fdg

4, 91pH fag

Options :

5362287541. 1
5362287542.2
5362287543. 3
5362287544. 4

Question Number : 87 Question Id : 5362281937 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SAfa Haral ST

Options :

5362287545. 1
5362287546. 2
5362287547. 3
5362287548. 4

Question Number : 87 Question Id : 5362281937 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

St HAT AT

1. A1 g5
4, T Siade

Options :

5362287545. 1
5362287546. 2
5362287547. 3
5362287548. 4

Question Number : 88 Question Id : 5362281938 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



BHRITHRI e b BRG] Go :

1. a3 fqyamg

2. a1 fayamE

3. el fayemamE

4. §[H 1&g fafaf Ry

Options :

5362287549. 1
5362287550. 2
5362287551. 3
5362287552. 4

Question Number : 88 Question Id : 5362281938 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HRITH R 1 BHH BRaE Goi :

. TE foyamng
 TasRTH fydmE

R EIEAEURIRIE

. O 3f1aTg ffr fayamma

e S N

Options :

5362287549. 1
5362287550. 2
5362287551. 3
5362287552. 4

Question Number : 89 Question Id : 5362281939 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1. GioT Uat:

2. BRIY B

3. ¥

4. aldidg
Options :
5362287553. 1
5362287554.2
5362287555.3
5362287556. 4

Question Number : 89 Question Id : 5362281939 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1. Gfel Uet:

2. HRIY HreH

3. g

RAL I
Options :
5362287553. 1
5362287554.2

5362287555. 3
5362287556. 4

Question Number : 90 Question Id : 5362281940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362287557. 1
5362287558. 2
5362287559. 3
5362287560. 4

Question Number : 90 Question Id : 5362281940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MGl S SEH G gy Bick gl JEmy |

1. AEd

2. Hiferg

ERAICES

4. 3Tal
Options :
5362287557. 1
5362287558. 2

5362287559. 3
5362287560. 4

Question Number : 91 Question Id : 5362281941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MEME 8- BRI §d S04 Taell 114 TR Gdrd-14 919 ;

(n) Al 51 o7 (B) HGRTH el

(C) Ha Arsit (D) R BB T
i (option) @I 910
1. (A) 3IRI (B) 3ATd
2. (A) AR (D) HTE
3. (B) 3R (C) AT
4. (C) 3R (D) 3MTa
Options :

5362287561. 1
5362287562. 2
5362287563. 3
5362287564. 4

Question Number : 91 Question Id : 5362281941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MEME 8- BRI §d S04 Taell 114 TR Gdrd-14 919 ;

(n) Al 51 o7 (B) HGRTH el

(C) Ha Arsit (D) R BB T
i (option) @I 910
1. (A) 3IRI (B) 3ATd
2. (A) AR (D) HTE
3. (B) 3R (C) AT
4. (C) 3R (D) 3MTa
Options :

5362287561. 1
5362287562. 2
5362287563. 3
5362287564. 4

Question Number : 92 Question Id : 5362281942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MM FEBRA 96 g6 Tdull 119 ARISaE-Y 90
EICEICIERG BEIEIEELU
(C) N PSR 1Y (D) 1968

e (opticn) Wl 95

Options :

5362287565. 1
5362287566. 2
5362287567. 3
5362287568. 4

Question Number : 92 Question Id : 5362281942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MEME eHEHBRA 96 da31 Mdw| 11d TR dar™-—1 9 ;
EICEICIEEN OEIEIEELU
(C) N PSR 1Y (D) 1968

e} (opticn) Wl 954 ;



Options :

5362287565. 1
5362287566. 2
5362287567. 3
5362287568. 4

Question Number : 93 Question Id : 5362281943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

M gFNBRA 9d 9491 Taw! Mg TRIgaa-rg 9
(A) S4BT groar (B) SISTY o
(C) 3MTSI T Tl (D) U T 9d

| (option) W1 904

Options :

5362287569. 1
5362287570. 2
5362287571. 3
5362287572. 4

Question Number : 93 Question Id : 5362281943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TEME sMAEB R o6 g941 Tae| M4 TRy 94

(A) SfETER grafar (B) SHI5TY ]
(C) SMTEI= I F1YT (D) FRTH H 9d

e (option) Gl U

Options :

5362287569. 1
5362287570. 2
5362287571. 3
5362287572. 4

Question Number : 94 Question Id : 5362281944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MEME sHUERA g« S¢91 Mawi Mg TRIgara-1g 9
(A) AR 3HARI (B) 1 Tl
(C) Tl He 9l (D) BT Hart

T (option) ECIREIECE



Options :

5362287573. 1
5362287574.2
5362287575.3
5362287576. 4

Question Number : 94 Question Id : 5362281944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e/ sMUH R g6 S641 gal g TRIgard-1d 90
(A) IFY SOAR] (B) Tl gl
(C) T He ol (D) TAT ®maERT

ﬁﬁ{opticn]“@lmz

Ca L i

Options :

5362287573. 1
5362287574.2
5362287575. 3
5362287576. 4

Question Number : 95 Question Id : 5362281945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TMEAE UG R &6 F641 Maall Mg TRIFaad 9163
(A) 3Gl (B) 2016
(C) B HEA (D) 2013

G} (option) W 90 :

1. (A) 3IRT (B) 3ATd

2. (A) R (D) HTE

3. (B) 3R (C) 3aA

4. (C) 3R (D) 3T
Options :

5362287577. 1
5362287578. 2
5362287579. 3
5362287580. 4

Question Number : 95 Question Id : 5362281945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TMEAE UG R &6 F641 Maall Mg TRIFaad 9163
(A) 3Gl (B) 2016
(C) B HEA (D) 2013

G} (option) W 90 :

Options :

5362287577. 1
5362287578. 2
5362287579. 3
5362287580. 4

Question Number : 96 Question Id : 5362281946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MEME s AR d¢ dad1 aa] 7114 RIS’ 91
(A) GHWBMEHE YT () Al

(C) garafusd (D) S=HTCd! AT

Tidf (option) Wl 9 ;

Options :



5362287581. 1
5362287582.2
5362287583. 3
5362287584. 4

Question Number : 96 Question Id : 5362281946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MEME sFUHRH a6 g6 Maal 11d TRIgaE-g 90
(A) GHBEM eyt (B) TMdel
(C) ol giusd (D) SEHTE A

ﬁﬁ{opticnj@ﬂm@:
1. (A) HRT (C) 3MTE

2. (C) 31X (D) 3

3. (B) 3R (D) T

4. (A) 3R (B) AT
Options :

5362287581. 1
5362287582.2
5362287583.3
5362287584. 4

Question Number : 97 Question Id : 5362281947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MM SHA® R 96 ga41 Mawl g TRTaa-1d 9494 ;
&) Gy faae (B) T YT WG
(€ TMRETEFETETMR (D) T e gEmi
ﬂﬁ?‘{uptic}n]@’fw:

Options :

5362287585. 1
5362287586. 2
5362287587. 3
5362287588. 4

Question Number : 97 Question Id : 5362281947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEMd sMAB R d¢ 9941 Tae Md TRy 94
(A) ofd faarg (B) TNl MTCE=Tg Sraemie
(€ WRET=FAAEmR (D) THd e gEmi
ﬂé‘fopti@n]@w:

Options :
5362287585. 1
5362287586. 2



5362287587.3
5362287588. 4

Question Number : 98 Question Id : 5362281948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MEAE sHEEBRA 96 g1 TMdw| 114 TR IGa™-1 9
(A) TRl

(B) WYRA! |1 |l WIHA! Iy Sl

(€) WYRE GRIgAl 81 d1g WaH!

D) WYR WHRYE T 5 @i g/

= T,

Tﬁ(opticn]@ﬂlﬂ@:

oW

Options :

5362287589. 1
5362287590. 2
5362287591. 3
5362287592. 4

Question Number : 98 Question Id : 5362281948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MEAIE eRAGRE a6 gad1 a4 TR Ga™-d 9
(A) TRl

(B) WIUNG! |1 |l WIAHA! SeA Sl

(€) WY GRIgAl g1 i @rard!

(D) WYRG WHTHYTE T 8¢ (@i g™

e (opticn) G 910

Options :

5362287589. 1
5362287590. 2
5362287591. 3
5362287592. 4

Question Number : 99 Question Id : 5362281949 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

EMId EHAHRA &6 ga31 Mas| 114 MRS 9 :
(A) Descriptive poetry (B) Lyrical poetry

(C) Elegy (D) Sonnet

T (opticn) Tl 9104

1. (B) 31 (D)
2. (B) 3R (C)
3. (A) 3R ()
4.

AT
3T
(C) 3T
A) 3R (D) AT



Options :

5362287593. 1
5362287594.2
5362287595. 3
5362287596. 4

Question Number : 99 Question Id : 5362281949 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MEME eHEGRH g6 ga31 a4 TR 9ad-d 9

(A) Descriptive poetry (B) Lyrical poetry

(C) Elegy (D) Sonnet

1. (B) 31RI (D) 3

2. (B) 3R (C) 3MTa

3. (A) 3R (C) 3T

4. (A) 3R (D) ATA
Options :

5362287593. 1
5362287594. 2
5362287595. 3
5362287596. 4

Question Number : 100 Question Id : 5362281950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362287597. 1
5362287598. 2
5362287599. 3
5362287600. 4

Question Number : 100 Question Id : 5362281950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362287597. 1
5362287598. 2
5362287599. 3
5362287600. 4

Question Number : 101 Question Id : 5362281951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MEME s R 86 ga41 Mde Md TRIeaa—d 919 ;
(A) TG GIAEATE BOE-ES| died 1

(B) function oriented

(C) X9 G- BRAEAE! deal 1

(

D) rank restricted

e (opticn) Wl 9104

Options :

5362287601. 1
5362287602. 2
5362287603. 3
5362287604. 4

Question Number : 101 Question Id : 5362281951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MEME s R 86 ga41 Mde Md TRIeaa—d 919 ;
(A) TG GIAEATE BOE-ES| died 1

(B) function oriented

(C) X9 G- BRAEAE! deal 1

(

D) rank restricted

e (opticn) Wl 9104

Options :

5362287601. 1
5362287602. 2
5362287603. 3
5362287604. 4

Question Number : 102 Question Id : 5362281952 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B,

MEMTE sMAG R a9 S99 a9l 71d TRIgad-" 910
(A) Hid- EIR) (B) IR

() I EAAE (o) Taeatd
ﬁﬁ(opti@nj@m:

(A) 3R (D) 3T
(A) 3R (C) 3
(B) 3R (C) 3T
(B) 3RI (D) AT
Options :

1.
2
-



5362287605. 1
5362287606. 2
5362287607. 3
5362287608. 4

Question Number : 102 Question Id : 5362281952 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TMEEE sHAB R ¢ ga41 Mawl 14 TRIFag-d 97494 :
(A) TG AR (B) SGIAT

() Ifffeia A o) T
fﬁ{opticnjﬁm:

1. (A) 3R (D) 3Td

2. (A) 3R (C) 3T

3. (B) 3R (C) AT

4. (B) 3R (D) 3T
Options :

5362287605. 1
5362287606. 2
5362287607. 3
5362287608. 4

Question Number : 103 Question Id : 5362281953 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MEEE sFEB R dd g«a7 Mdell d TRIgag-1d 918
(A) TR AREE (B) &X' d

() RORSymRdar (o) TR EE

e (option) Wl e ;

Options :

5362287609. 1
5362287610. 2
5362287611. 3
5362287612. 4

Question Number : 103 Question Id : 5362281953 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MG BRI a8 gaa] Mael Md TRIgaa-d 919 :
(A) 7RI AREE (B) &X' d

) RORSymRda (o) TR

s (option) Wl |

Options :

5362287609. 1
5362287610. 2
5362287611. 3



5362287612. 4

Question Number : 104 Question Id : 5362281954 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

METd SFUBRA 96 9991 Masl! Mg TRIgad-1g 9
(A) AT (B) YN gelEgl
c A O -M

= =

W{Dptian)@ﬂm@:

Options :

5362287613. 1
5362287614.2
5362287615. 3
5362287616. 4

Question Number : 104 Question Id : 5362281954 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEME s HUHRA 96 g1 Mgull Mg TRIgaE-y 979
(A) AW (B) 1Y GeTEal

© W (@ -f

ﬁﬁ{opticn)@m:



Options :

5362287613. 1
5362287614. 2
5362287615.3
5362287616. 4

Question Number : 105 Question Id : 5362281955 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TME™E sHEH R 94 9441 Mael Md TRIgarg-1g 9148
(A) cEEARIE  (B) Y

(C) By (D) Ty
ﬁﬁ{opticn]@ﬂm@:

Options :

5362287617. 1
5362287618. 2
5362287619. 3
5362287620. 4

Question Number : 105 Question Id : 5362281955 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TMEME e-AH R 96 gad1 Mael Mg TRFaa-1d 9749 :
(A) cEgaIEd () oMY

(C) B (D) Ty

s (option) W 95 ;

Options :

5362287617. 1
5362287618. 2
5362287619. 3
5362287620. 4

Question Number : 106 Question Id : 5362281956 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MEME s RH 86 gad1 Mael d TRIE arg-rd 9149 ;
(A) URMNY (BRME) (B) el

(€) I (D) A, 3 sfemd

e (opticn) Wl 9104

Options :

5362287621. 1
5362287622.2
5362287623. 3



5362287624. 4

Question Number : 106 Question Id : 5362281956 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MEME gHEG R g6 gaa1 el Md TRId ah-ay 910
(A) RN (GRE) (B) IS

(@ (D) 3HEH, 3fdd Hard
ﬁ{opticnj@ﬂm@:

-
|

A) 3R] (B) 3Td
A) 3R ()
A) R (D
C) AR (D

Options :

5362287621. 1
5362287622.2
5362287623.3
5362287624. 4

A
a1
A
A

P S I S

Sl
) AT
) &l

Question Number : 107 Question Id : 5362281957 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



B,

MM gFaB R g6 g9 M 71d TRISaE-Td 1A .
(A) TAWME (B) &ldy

© T3 () femmen

TFécl[r::;:ﬂ:icrnj"@ﬁﬂ'l’*lil?:':[:

1. (A) 3R (B) 3T

2. (A) 3R (C) 3T

3. (A) 3R (D) 3Td

4. (B) AR (D) 3T
Options :

5362287625. 1
5362287626. 2
5362287627. 3
5362287628. 4

Question Number : 107 Question Id : 5362281957 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MEMAE gHUHRH g6 S641 el 11d TRIGAa-g i
(A) THAWIH (B) cldy
Q) D3 D) feAr™

U] (opticn) Wl 95
1. (A) 3R (B) 3T
2. (A) 3R (C) 3T
3. (A) 3R (D) 3Td
4. (B) R (D) 3T
Options :

5362287625. 1
5362287626. 2



5362287627. 3
5362287628. 4

Question Number : 108 Question Id : 5362281958 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MEMd sHEG R 9d g4 Maell Md TRIGE- 914
(n) fowEm (B) TGl

€ WiRmel () <@

e (option) Wl 9 ;

i

1. (A) AR (B) AT
2. (A) 3R (C) 3T
3. (C) 3RI (D) 3T
4. (B) AR (D) AT
Options :
5362287629. 1
5362287630. 2
5362287631. 3

5362287632. 4

Question Number : 108 Question Id : 5362281958 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TEME s MG R 96 g6d1 Mae Mg RS- 9149

(a) @™ (B) gl
() @EmEry (o) <@
s {(option) W 910 :

1. (A) 3RI (B) 3Td
2. (A) AR () 3T
3. (C) 3R (D) 3Ma
4. (B) 3Rl (D) AT
Options :
5362287629. 1
5362287630. 2

5362287631. 3
5362287632. 4

Question Number : 109 Question Id : 5362281959 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

S, "R |

MEMIEd eMAE R 9« 9691 a9l 711d TRIgard-1d 910
(A) TRIIEAE  (B) W Y&Ea™
(€) AWAYURAE (D) YR TR U™

o (option) W 9E ;

1. (B) 3R (D) 3T

2. (A) 3R (B) 3Td

3. (A) 3RI (C) 3T

4. (C) 3R (D) 3MTa
Options :

5362287633. 1
5362287634.2
5362287635.3



5362287636. 4

Question Number : 109 Question Id : 5362281959 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEMd g -G RA g6 g641 Tas| 7114 TRIGaE-" 90 -
(A) THIYEAE (B) A9 REA™

(€ HEEYRAE (D) YR GRIA UaH™
ﬁn:optionjﬁﬂm@:

Options :

5362287633. 1
5362287634.2
5362287635. 3
5362287636. 4

Question Number : 110 Question Id : 5362281960 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MR SRAHRA 9¢ 491 Maw! M4 TRIga™-Y 9109
() fae (B) W

(C) TENYENY (D) HId 5l

s (option) W 954

Options :

5362287637. 1
5362287638. 2
5362287639. 3
5362287640. 4

Question Number : 110 Question Id : 5362281960 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e/ eMUBRH 96 ga4d] Mda! 11d TRIeaa-g 910
(n) foea (B) TIY

(C) GEATYER (D) el 9yl

e (option) Wl 9104

. (B) 3R (D) 3Tl
(B) ¥R (C) 3T
(A) AR (D) AT
(A) SR (C) 3Tt

Options :

5362287637. 1
5362287638. 2
5362287639. 3

1
2.
3.
4.



5362287640. 4

Question Number : 111 Question Id : 5362281961 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TMEME eHAB R ¢ ga41 Mawl 14 TRFaa-d 97494 :
(A) (B wEE
) MRE (D) wd
ﬂﬁ{optien]@[w:

L (A) W( ) STt

2. (A) 3R (B) Hlcd

3. (A) S‘I'ITI (D) Hlcd
4. (B) 3R (D) T
Options :
5362287641. 1
5362287642.2

5362287643. 3
5362287644. 4

Question Number : 111 Question Id : 5362281961 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MG sFAE R a8 ga4 Mael Mg TRFaa-d 97494 ;
W) T (B SER
() WA (D) wd
ﬂ_&f{optienj@ﬂm@:



Options :

5362287641. 1
5362287642.2
5362287643. 3
5362287644. 4

Question Number : 112 Question Id : 5362281962 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MEMAE sHUHRH 9d S647 Mgal 11d TRIgard-1d 90
) e @) IWIR
€ @Y (D) SMIda

=4 Ty

W{opticn]@?ﬁ@:

1. (A) 3R (C) 3T

2. (A) AR (B) AT

2. (A) AR (D) HTE

4. (C) 3R (B) 3T
Options :

5362287645. 1
5362287646. 2
5362287647. 3
5362287648. 4

Question Number : 112 Question Id : 5362281962 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TMEME s UG R g6 F941 Masl Md TREaEd 91494
) HaAm @) TEER

© RE@der (D) SMIEER

e (option) RCIR G E

. (A) 3R (C) 3T
. (A) 3R (B) 3Tl
(
(B)

W b =

3. (A) AR EH 3Td
4. (C) 31T (B)
Options :
5362287645. 1
5362287646. 2
5362287647. 3
5362287648, 4

Question Number : 113 Question Id : 5362281963 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TMEME gHAH R 96 gad1 sl d TRIGaE-g 919
A) I (B) FHIDH
(€ TG (D) Wl H

Td (opticn) Wl 95

1. (A) 3R (B) 3TA

2. (A) 3R (C) 3T

3. (A) 3R (D) 3Td

4. (B) AR (D) 3T
Options :

5362287649. 1
5362287650. 2
5362287651. 3



5362287652. 4

Question Number : 113 Question Id : 5362281963 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o, T2

MEMd -G R g6 g9 Mael 71d TRISaE-Td 91ad .
A) I (B) FHIDH
€ TUU (D) el ey

T (opticn) Wl 95

1. (A) 3R (B) 3TA

2. (A) 3RI (C) 3T

3. (A) AR (D) 3Td

4. (B) AR (D) AT
Options :

5362287649. 1
5362287650. 2
5362287651. 3
5362287652. 4

Question Number : 114 Question Id : 5362281964 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MR SHEBRE g 9691 TMdsl 74 RIS 9E ;

(A) dFEn () ABHI

(© SHEd (D) APH

e (option) W 95 ;



Options :

5362287653. 1
5362287654. 2
5362287655. 3
5362287656. 4

Question Number : 114 Question Id : 5362281964 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TMEM™E sHE® R 94 g441 el Md TRIgarg-1d 9148
(A) dETET (B) @Al

(C) @HEd (D) o™

ﬁuﬁﬂpti@ﬂ]@ﬂm@:

Options :

5362287653. 1
5362287654. 2
5362287655. 3
5362287656. 4

Question Number : 115 Question Id : 5362281965 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MEAE sHMERA a6 g991 Tdwi 11d RS- 91

(a) e 31s fer
(C) HEIG gEiH"

(B) HTETG BlofAE
(D) A MESAY

ﬁ%‘{nption)@w:

A)
A)
A)
)

B) 3Tl
C) It
D) 3T
D) Sct

=L

4455

- | (
| (
5. ( (
| (

Options :

5362287657. 1
5362287658. 2
5362287659. 3
5362287660. 4

Question Number : 115 Question Id : 5362281965 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TMEME BFEBRA 4 9447 Mdel d TRIgag-1d 918
A) SMfdemsfml (B) 3HETG BivEE

() HEEcEAd (D) T gL
ﬁ%‘{nption)@w:

A)
A)
A)
)

B) 3Tl
C) It
D) 3T
D) Sct

=L

4455

- | (
| (
5. ( (
| (

Options :

5362287657. 1
5362287658. 2
5362287659. 3



5362287660. 4

Question Number : 116 Question Id : 5362281966 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MeEg s AR = faRk-n 91 TRiE 8FF 79 - 90

-1 (fareme) i1 (ferRfii)

(A) S Y YR 0 foe= PR sgrad
() U] HRI BN @ He et

(€) T HSN TN ARIERY () YHHIR SgHaR]
(D) & FIRGH AeR g (V) TERR SRl
?ﬁ(opticn)@mz

L. (A)-(Iv), (B)-(mI), (C)-(@). (D)-(ID)
2. (A)-(III), (B)-(1V), (C)-(I0), (D)-(T)
3. (A)-(I0), (B)-(@). (C)-(mI), (D)-(1V)
4. (A)-(I), (B)-(I), (C)-(1V), (D)-(II)

Options :

5362287661. 1

5362287662. 2

5362287663. 3

5362287664. 4

Question Number : 116 Question Id : 5362281966 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MeEE g™ fOR-1 of -1 @ TIRIE g 716 h-aa 99

-1 (feerE) fafR-n (ferffy

(&) WYY YIarg 0 foes R agHar
(B) SR ARITIRY @ Y& Il

(€) T FHER IS AHRIBNY (1) FHIR SYEIR]
(D) = BINHH "5 33 1v) TeeR
ﬁg{opticn)ﬁfw:

L. (A)-(Iv), (B)-(T), (C)-(), (D)-(I)
2. (A)-(LD), (B)-(1V), (C)-(1), (D)-(T)
5. (A)-(I), (B)-(@), (C)-(m), (D)-(1v)
4. (A)-(), (B)-(m), (C)-1v), (D)-(T)

Options :

5362287661. 1
5362287662. 2
5362287663. 3
5362287664. 4

Question Number : 117 Question Id : 5362281967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e s fR-1 9 -1 @1 TRiE 8FF 7" fha-mawE 90

-1 (fdairE) TaR-1 @)
(A) BETGH A O 1985

(8) Tafc@R () 1974

() Taia™ AR () 1972

(D) A (V) 1984
ﬂgfoption]@m:

L. (A)-(I0), (B)-(IID), (C)-(1V), (D)-()
2. (A)-(TI), (B)-(IV). (C)-(1), (D)-(m)
3. (A)-(D, (B)-(m), (C)-(ImI), (D)-(1V)
4. (A)-(IV), (B)-(I0), (C)-(T), (D)-(T)

Options :

5362287665. 1
5362287666. 2
5362287667. 3
5362287668. 4

Question Number : 117 Question Id : 5362281967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e s fR-1 9 -1 @1 TRiE 8FF 7" fha-mawE 90

-1 (fdairE) TaR-1 @)
(A) BETGH A O 1985

(8) Tafc@R () 1974

() Taia™ AR () 1972

(D) A (V) 1984
ﬂgfoption]@m:

L. (A)-(I0), (B)-(IID), (C)-(1V), (D)-()
2. (A)-(TI), (B)-(IV). (C)-(1), (D)-(m)
3. (A)-(D, (B)-(m), (C)-(ImI), (D)-(1V)
4. (A)-(IV), (B)-(I0), (C)-(T), (D)-(T)

Options :

5362287665. 1
5362287666. 2
5362287667. 3
5362287668. 4

Question Number : 118 Question Id : 5362281968 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Merd s -1 &f faf-n @ TRiE sFF e g 99

-1 (R SN EEIE)

(A) FIIH ARl M TE SRS

(B) oRfd=< IR m  Afrgzgal et JiE e
() TeemTImREy @ cEar

(D) Wi~ IgHaTN 1) Haifuf Teau™
ﬁ&(mptionjﬁw:

A)-(@), (B)-(II), (C)-(V), (D)-(0)
A)-(TI), (B)-(1v), (C)-[), (D)-(m)
A)-(@), (B)-(I). (C)-(V), (D)-(II)

2.
4. (A)-(0), (B)-(m), (C)-(m), (D)-(1vV)

— p— p— —

Options :

5362287669. 1
5362287670. 2
5362287671. 3
5362287672. 4

Question Number : 118 Question Id : 5362281968 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Merd s -1 &f faf-n @ TRiE sFF e g 99

-1 (R SN EEIE)

(A) FIIH ARl M TE SRS

(B) oRfd=< IR m  Afrgzgal et JiE e
() TeemTImREy @ cEar

(D) Wi~ IgHaTN 1) Haifuf Teau™
ﬁ&(mptionjﬁw:

A)-(@), (B)-(II), (C)-(V), (D)-(0)
A)-(TI), (B)-(1v), (C)-[), (D)-(m)
A)-(@), (B)-(I). (C)-(V), (D)-(II)

2.
4. (A)-(0), (B)-(m), (C)-(m), (D)-(1vV)

— p— p— —

Options :

5362287669. 1
5362287670. 2
5362287671. 3
5362287672. 4

Question Number : 119 Question Id : 5362281969 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MeEd M AR & faRk-n 91 TRiE gFF 7" - 90

-1 [@eE) Rty (3fffd)

(4) Y g @) WRucrH

B) FdcHfEg 1) &G aER

) Sufwelfag () TS TR Sy
(D) TPpd aE fag Iv) Sifern gard

e (option) T 904

L. (A)-(mI), (B)-(V), (C)-(), (D)-()
2. (A)-(I), (B)-(@), (C)-(m), (D)-(1v)
5. (A)-(I), (B)-(IID), (C)-(0), (D)-(V)
4. (A)-(V), (B)-(D), (C)-(Im), (D)-(IT)

Options :

5362287673. 1
5362287674.2
5362287675. 3
5362287676. 4

Question Number : 119 Question Id : 5362281969 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MeEd M AR & faRk-n 91 TRiE gFF 7" - 90

-1 [@eE) Rty (3fffd)

(4) Y g @) WRucrH

B) FdcHfEg 1) &G aER

) Sufwelfag () TS TR Sy
(D) TPpd aE fag Iv) Sifern gard

e (option) T 904

A)-(TI), (B)-(V), (C)-[0), (D)-(m)
A)-(@), (B)-(0). (C)-{m), (D)-(IV)
A)-(), (B)-(ID), (C)-(1). (D)-(IV)

&
2.
4. (A)-(V), (B)-(D), (C)-(Im), (D)-(IT)

— —— ——

Options :

5362287673. 1
5362287674.2
5362287675. 3
5362287676. 4

Question Number : 120 Question Id : 5362281970 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Merrd s k-1 9 fal-n @ TRIE 8HF i fth-raa! 90 -

FR-1 (f5arE) -1 ey
() Tomr-fiean IR CIGRIGIGIE
(B) BHUC M YHed BRIFR
(C) el @y TEg
(D) & wE Iv) T
ﬁgfﬂptiﬁﬂ]@m:

1. (A)-(MI), (B)-(I1), (C)-(1V), (D)-(D)
2. (A)-(I), (B}-(IV), (C)-(10), (D)-(TD)
3. (A)-(IV), (B)-(II), (C)-(D), (D)-(I)
4. (A)-(I), (B)-(0), (C)-(1V), (D)-(1D)

Options :

5362287677. 1
5362287678. 2
5362287679. 3
5362287680. 4

Question Number : 120 Question Id : 5362281970 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Merrd s k-1 9 fal-n @ TRIE 8HF i fth-raa! 90 -

FR-1 (f5arE) -1 ey
() Tomr-fiean IR CIGRIGIGIE
(B) BHUC M YHed BRIFR
(C) el @y TEg
(D) & wE Iv) T
ﬁgfﬂptiﬁﬂ]@m:

1. (A)-(MI), (B)-(I1), (C)-(1V), (D)-(D)
2. (A)-(I), (B}-(IV), (C)-(10), (D)-(TD)
3. (A)-(IV), (B)-(II), (C)-(D), (D)-(I)
4. (A)-(I), (B)-(0), (C)-(1V), (D)-(1D)

Options :

5362287677. 1
5362287678. 2
5362287679. 3
5362287680. 4

Question Number : 121 Question Id : 5362281971 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e s/ -1 & fal-n @1 IRE 8FF 7" e 99

fafy-1 (amf fafe-1 @Eam)
(n) @ M TIRHIEG
(B) () TIUERIG
€ & IR NIREEISIERIE
(D) @ (V) UTEll 34 TSN
| (option) Wl 90
1. (A)-(OD), (B)-(1). (©)-(V), (D)-{ID)
2. (A)-(Iv), (B)-(TI), (C)-(I), (D)-(D)
3. (A)-(II), (B)-(T). (C)-(ID), (D)-(IV)
4. (A)-(I), (B)-(IV). (C)-(D), (D)-(1I)

Options :

5362287681. 1
5362287682. 2
5362287683. 3
5362287684. 4

Question Number : 121 Question Id : 5362281971 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e s/ -1 & fal-n @1 IRE 8FF 7" e 99

fafy-1 (amf fafe-1 @Eam)
(n) @ M TIRHIEG
(B) () TIUERIG
€ & IR NIREEISIERIE
(D) @ (V) UTEll 34 TSN
| (option) Wl 90
1. (A)-(OD), (B)-(1). (©)-(V), (D)-{ID)
2. (A)-(Iv), (B)-(TI), (C)-(I), (D)-(D)
3. (A)-(II), (B)-(T). (C)-(ID), (D)-(IV)
4. (A)-(I), (B)-(IV). (C)-(D), (D)-(1I)

Options :

5362287681. 1
5362287682. 2
5362287683. 3
5362287684. 4

Question Number : 122 Question Id : 5362281972 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Merd s -1 & faf-n @1 IRiE 8FF 7" - 90

fafe-1 [@aE) a1 @m@)
(A) S-S @ XTHI
(B) AT ()
™ (m R
(D) i av) femmm
fﬁ(optimn)@w:

L. (A)-(D), (B)-(ID), (Q)-(I), (D)-(1V)
2. (A)-(@), (B)-(1V), (C)-(D), (D)-(TI)
3. (A)-(I), (B)-(0). (Q)-V). (D)-()
4. (A)-(IV), (B)-(I0), (C)-(TI), (D)-(I)

Options :

5362287685. 1
5362287686. 2
5362287687. 3
5362287688. 4

Question Number : 122 Question Id : 5362281972 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Merd s -1 & faf-n @1 IRiE 8FF 7" - 90

fafe-1 [@aE) a1 @m@)
(A) S-S @ XTHI
(B) AT ()
™ (m R
(D) i av) femmm
fﬁ(optimn)@w:

L. (A)-(D), (B)-(ID), (Q)-(I), (D)-(1V)
2. (A)-(@), (B)-(1V), (C)-(D), (D)-(TI)
3. (A)-(I), (B)-(0). (Q)-V). (D)-()
4. (A)-(IV), (B)-(I0), (C)-(TI), (D)-(I)

Options :

5362287685. 1
5362287686. 2
5362287687. 3
5362287688. 4

Question Number : 123 Question Id : 5362281973 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Merd g™ -1 9 k-1 @ TRiE gHF 7id - 90

faR-1 (37T k-1 @)
(A) BT @ HGs grd udl
(B) HiTiel-sia ) B/ SgmEl
© gEd am HEE e

(D) e al (v) A1g @l

Tﬁf(mptmn ol U ;

-(@), (B)-(ID, (C)-(0), (D)-(IV)
-(TI), (B)-(1D, (C)-(v), (O)-(0)

-(Iv), (B)-(TI), (C)-@), (D)-(I0)
-(@), (B)-(1). (C)-(1V), (D)-()

Options :

5362287689. 1
5362287690. 2
5362287691. 3
5362287692. 4

Question Number : 123 Question Id : 5362281973 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Merd g™ -1 9 k-1 @ TRiE gHF 7id - 90

faR-1 (37T k-1 @)
(A) BT @ HGs grd udl
(B) HiTiel-sia ) B/ SgmEl
© gEd am HEE e

(D) e al (v) A1g @l

Tﬁf(mptmn ol U ;

-(@), (B)-(ID, (C)-(0), (D)-(IV)
-(TI), (B)-(1D, (C)-(v), (O)-(0)

-(Iv), (B)-(TI), (C)-@), (D)-(I0)
-(@), (B)-(1). (C)-(1V), (D)-()

Options :

5362287689. 1
5362287690. 2
5362287691. 3
5362287692. 4

Question Number : 124 Question Id : 5362281974 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MerEd eiA™ FR-1 9 faR-n @) TRiE gFF i - 90

faR-1 (3mai) FRR-1 (@TeTa-m)
(A) IFH O e wEEl
(B) @ral @M AL i
() gHEE am 99 el
(D) U™ Iv) TEE AR It
s {Uption)@[w:
1. (A)-(), (B)-(II), (O)-(IV), (D)-(II)
2. (A)-(D, (B)-{), (C)-{D), (D)-(IV)
3. (A)-(IV), (B)-(I0), (C)-(II), (D)-(I)
4. (A)-(IV), (B)-(D), (C)-(II), (D)-(mI)

Options :

5362287693. 1
5362287694. 2
5362287695. 3
5362287696. 4

Question Number : 124 Question Id : 5362281974 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MerEd eiA™ FR-1 9 faR-n @) TRiE gFF i - 90

faR-1 (3mai) FRR-1 (@TeTa-m)
(A) IFH O e wEEl
(B) @ral @M AL i
() gHEE am 99 el
(D) U™ Iv) TEE AR It
s {Uption)@[w:
1. (A)-(), (B)-(II), (O)-(IV), (D)-(II)
2. (A)-(D, (B)-{), (C)-{D), (D)-(IV)
3. (A)-(IV), (B)-(I0), (C)-(II), (D)-(I)
4. (A)-(IV), (B)-(D), (C)-(II), (D)-(mI)

Options :

5362287693. 1
5362287694. 2
5362287695. 3
5362287696. 4

Question Number : 125 Question Id : 5362281975 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MEEd s AR & faR-n 91 TRIE gFF Tid - 90

faR-1 @) FafR-mr (3iffa)
(A) THH o 9 H

(B) Tl m ATIRE

(€) TTHHE () TOTHR YR =
(D) BT (Iv) TEER
ﬁé‘(nption)@m:

Options :

5362287697. 1
5362287698. 2
5362287699. 3
5362287700. 4

Question Number : 125 Question Id : 5362281975 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MEEd s AR & faR-n 91 TRIE gFF Tid - 90

faR-1 @) FafR-mr (3iffa)
(A) THH o 9 H

(B) Tl m ATIRE

(€) TTHHE () TOTHR YR =
(D) TBU (Iv) TEER

e (option) W 9104

Options :

5362287697. 1
5362287698. 2
5362287699. 3
5362287700. 4

Question Number : 126 Question Id : 5362281976 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e gaar [SeaBRE MeFHmEE TomEiiEt ik grea—ea 96
(A) W gEEm () 39 @ Id

(C) WESHIHA (D) & S

fﬁ{optimn]‘@ﬁw:

L. (A) (C) (D) (B)
2. (A) (D) (B) (Q)
3. (D) (A) (€) (B)
4. (D) (C) (B) (A)



Options :

5362287701. 1
5362287702. 2
5362287703. 3
5362287704. 4

Question Number : 126 Question Id : 5362281976 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(A) :
() WHSHRI A (D) &M S

Bow N e

Options :

5362287701. 1
5362287702. 2
5362287703. 3
5362287704. 4

Question Number : 127 Question Id : 5362281977 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MR fSeEmRA MeFHAwE TemEiEEt BIRY GeE-rEE 9o
(A) YT R WER (8) SUN] RIEIRY

(Q YAdEHfEe AR (D) YIS HRI gl
ﬂﬁ{optien]@w:

Options :

5362287705. 1
5362287706. 2
5362287707. 3
5362287708. 4

Question Number : 127 Question Id : 5362281977 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MMM ASEHERA MeRFAER TeEEE BN Gea-EE! 9
(A) YT R AR (8) TGN 3RIBIRY

(Q YACTEH &g AR (D) YAl HRI Tl
ﬁﬁ{option]@ﬂl’ﬂ'@:

Options :
5362287705. 1



5362287706. 2
5362287707. 3
5362287708. 4

Question Number : 128 Question Id : 5362281978 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e/ T3 SeeeRE RiAwm SR By Seme=raE! 99

(A) HTeIET () eE
() Tﬁ?a'rﬁ‘fm G (D) 3@l IE T
s ﬁoptionj@ﬂ]ﬂ'@:

L. (A) (B) (C) (D)

2.(B) (Q) (D) (A)

Options :

5362287709. 1
5362287710. 2
5362287711.3
5362287712. 4

Question Number : 128 Question Id : 5362281978 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MeE W2 EeaeRA fEnAme SAal By gree=rgE 90 -
(A) Tl (B) YI&N

(C) TREFIGE (D) oGl 1 =

fﬁ(uption]@m:

5. (C) (D) (A) (B)
- (D) (A) (B) ()

Options :

5362287709. 1
5362287710. 2
5362287711.3
5362287712. 4

Question Number : 129 Question Id : 5362281979 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

meEf AewREA sEfom a1fed Meifaterg Taft=f B gemo-raEt 90 |

(A) BiaE (B) Yol
() Ty (D) AEHAT
ﬁﬁ{optioﬂj@m:

L. (A) (C) (D) (B)
2. (A) (B) (C) (D)
3. (B) (A) (C) (D)
4.() (D) (B) (A)
Options :
5362287713. 1
5362287714.2



5362287715.3
5362287716. 4

Question Number : 129 Question Id : 5362281979 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

el AGHRMA sFfom St M EaiaF B eE-EE! 904 |
(A) BiRuE ENE]

() Ty (D) SHHAT

ﬁﬁ{opticn}lﬁ[w:

Options :

5362287713. 1
5362287714.2
5362287715. 3
5362287716. 4

Question Number : 130 Question Id : 5362281980 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MEMEd s faoamRA TemaHhETg TeFT B grea-ad! 96
A) TR eREiNGR (B Fac

© WIRHWI (D) TIUER YIaTg
ﬁ&{opticn)@m:

Options :

5362287717. 1
5362287718.2
5362287719. 3
5362287720. 4

Question Number : 130 Question Id : 5362281980 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MG g™ fGoEahRA MeHAEE MEHEH BIRE Sroa-aE) 90
(A) U BIRAINGR  (B) wawml

@ QAEHWI|W (D) IIUAR YIaTg
ﬁ&{opticn]@m:

Options :

5362287717. 1
5362287718.2
5362287719. 3



5362287720. 4

Question Number : 131 Question Id : 5362281981 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

memﬁa@m AT, SETMYUH 3R ST aralaal- By

(A) Sl (B) -3M1d
© - D) -@

4. (CII fﬁ] DJ' (B
Options :
5362287721. 1
5362287722.2
5362287723.3
5362287724. 4

Question Number : 131 Question Id : 5362281981 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HO-TEE! 9

A) -t (B) -3Md
€ A D) -
ﬂﬁ{opticn]@m:

L. (A), (D), (C) (B)
2.(A) (B), (D), (Q)
3. (C). (B), (A), (D
4.(Q), (A), (D), (B
Options :
5362287721. 1
5362287722.2
5362287723.3
5362287724. 4

)
)

Question Number : 132 Question Id : 5362281982 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T TiGld S1RggTd ST AT HRAE M IaB R MeiHmr @afaat wify

ARG I
n) Tt (B) ofear
(C) dIell (D) UraTal

e Dption]‘@w:

(B) (A) (D) (C)
() (D) (A} (B)

e T

3. (A) (C) (B) (D)

4. (D) (B) (C) (A)
Options :
5362287725. 1



5362287726. 2
5362287727. 3
5362287728. 4

Question Number : 132 Question Id : 5362281982 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I TiGld S1gd1d ST A" HRAH TS AaB R MEiHmE AR B

GIeIE-rE] 9

) fe<dl (8) 3fs
(€ dicl (D) UrlTal
ﬁa(optianjﬁw:

3. (A) Q) (B)

4. (D) (B) (C)
Options :
5362287725. 1
5362287726.2
5362287727. 3
5362287728. 4

(D)
(

&=

Question Number : 133 Question Id : 5362281983 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



BRI gisdl UaT SATETe el Biiadl hRaAbRA BIRE Yree-ad! 3a
() JMiaSiEr (8) BId Uaed

(C) AT A (D) WIEAE A

ﬁ&{mptionjﬁw:

Options :

5362287729. 1
5362287730. 2
5362287731.3
5362287732. 4

Question Number : 133 Question Id : 5362281983 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TR gled TaT ATaTG e Bl b RATGRA WY Qera-rad! a0
(a) AFESE () B tgead

(C) S A (D) HIAE T

ﬁ{option)@m:

Options :
5362287729. 1
5362287730. 2



5362287731.3
5362287732. 4

Question Number : 134 Question Id : 5362281984 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

BRI i< 29-41d Ta-Tg WA Bk gree-maE 98
(A geEE  (8) &l

) WU () SiETgHl

e (option) Wl 9 ;

=
0
=
=

=

Eoii. ] Eaii 1 —— ——
o
! -

\__,\__,
P
0 m

L e
A
o
e e e R

=
o
=

Options :

5362287733. 1
5362287734.2
5362287735.3
5362287736. 4

Question Number : 134 Question Id : 5362281984 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ﬂ'ﬂﬁﬂm%mﬂlulqmdﬁlu@mﬁﬁmmw:
(A) gewEm ) e

(€ wWidg (o) SfargHEl

ﬁﬁ{option]@ﬂm@:

Options :

5362287733. 1
5362287734.2
5362287735. 3
5362287736. 4

Question Number : 135 Question Id : 5362281985 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

PRITERMA T $oH BRa™E AT S8aH g6 Ara-a/ By See-aal
HId4:

(A) offER URmE s (8) SRISE TOeR & 9

() HEGE YFA Sl (D) HHE g ho HEE!

ﬁﬁ{optionj@m:

L. (A) (B) () (D)
2. (A) (C) (D) (B)
3. (B) (A) () (D)
4. (B) (D) (C) (A)
Options :
5362287737. 1
5362287738.2



5362287739.3
5362287740. 4

Question Number : 135 Question Id : 5362281985 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HRIAB R B o BRaYE G 39aaH gE aEaat ek e
H[+d:

(A) e URmE st (8) SRUSE TR & 9

(C) HECE YT Sl (D) AHME g $HH HEE!

W{opticn}lﬁ[m:

Options :

5362287737. 1
5362287738. 2
5362287739.3
5362287740. 4

Question Number : 136 Question Id : 5362281986 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TMEHE 5HE §BRAG A 3R SgH R @I Tid A1 RIS 910 -
dBRAY A : REBRM GH YFarg SHEH [SUEH SEE gy YAashR|
WIeH R : THEMI SRBRMA Toivid g YHarsH el srerihRE! giHeE |
ﬁ{optiun)@m:

1. A T TRIF R 31 7
2. A3 TTE R 31 TRIFY
3. A HRI R AFAE! TR
4. A R R AT TS

Options :

5362287741. 1
5362287742.2
5362287743. 3
5362287744. 4

Question Number : 136 Question Id : 5362281986 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e S §h R A HRI S8H R @l e AT TR 91 -
dPRAM A : REBRMA TMGH YA SHEH [SYEHE! ed 44 YTas®R|
WIeH R : HFEFI BRI ToRd Yy YHasH T derih Rl g |
ﬁ(optian)ﬁfm:

1. A HITRIFY R 3177
2. A3 71d R 31 RIFY
3. A HRI R G9! TR
4. A 3R R GHE! e

Options :
5362287741. 1
5362287742.2



5362287743. 3
5362287744. 4

Question Number : 137 Question Id : 5362281987 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Merd B4 €Y g1 9al

g1 W IR SR HRE FifEeE! 1are [t TR gl SeraHEmE

e

din: T fafegidrr mad M gel SWBRE! Yl gluEE JiaH! gl

Teiiard e gAHRMA TR ARGl (option) FTEE 904 -

131 T 11 31 TIRIY
13RI 1 J-aT T
13T TR 11 3 71
13RI 1 J-=a! TR

Options :

5362287745. 1
5362287746. 2
5362287747. 3
5362287748. 4

fd =t

W

Question Number : 137 Question Id : 5362281987 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MR H-4 §fY 81" el -

01 S T SR EREA FifEE! 1o fafearai ToRe ik SrmraHEE @t
avatel|

dn: O e e Ta e SErGRE! T giuEaE Jia-l gl
Teiard gH §AGRMA TRIE AEAEE! (option) FHHR 9194 -

13T e 11 3T TIRIY
S r I E ICEGIRIG]
13T TR 11 3 71
13RI 1 JiAal TR

Options :

5362287745. 1
5362287746. 2
5362287747. 3
5362287748. 4

P =t

= W

Question Number : 138 Question Id : 5362281988 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MR BHM §BRA™ A HRI AeH R @l 19 91 RIS 9159 -

dBIRA™ A : Sehidd 31 Wal @Yl g1 Hed @lal AR aiGiEr 4R g
WIeHR:  HHEMFE GAME T A T TE SHEH dshidd|
ﬂﬁ{option)@m:

1. A S TR R AT

2. A HTTId R 3T TIRIFY

3. A 3R R JHAd! e

4. A 3R R AFE! TRIFY
Options :
5362287749. 1
5362287750. 2
5362287751. 3



5362287752. 4

Question Number : 138 Question Id : 5362281988 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MEMEE BHE §BRAM A 3Rl SeH R @l 14 T TR 959 :

§BRAM A : Shiad 3 S5 @Y A Hed el HRI I/ RE U g9 |
GIeF R: AT SAME I ARG TR T8 §-H! @i |
ﬁg{option)@ﬂm@:

1. A TR R 31 7

2. A3 TE R 3 TIRIFY

3. A 3R R A@F-E! e

4. A 3R R AHAE! TRIFY
Options :
5362287749. 1
5362287750. 2
5362287751. 3
5362287752. 4

Question Number : 139 Question Id : 5362281989 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TR 5HE §% A A HRI STgH R @i Tid A1 TIRIF 40 -

dBIRAM A : 93 Y& Her@r-a fSRiwRT femmE Jaw Rl T TR
AEFR: M COF! GHUH e oYal Tidd 99 IR 391ddl S 4Rl |
s {option) LEIRSECE

1. A Rl R A4 16
2. A 3R R AFAE! TRIFY
3. A ST TE R 31 TTRIFY
4. A 3 TR R 317



Options :

5362287753. 1
5362287754. 2
5362287755.3
5362287756. 4

Question Number : 139 Question Id : 5362281989 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

R 5HE §%RA™ A HRI STEH R I T1d A1 IRIFY 9104 -

FBRAM A : 93 UaH Fer@ai fSRwRT feHE Jaw Rl T TRIEE |
AEFR:  HEF IR GHYHAs S8 Tad 99 SR 3Ee) E Y|
ﬂé}‘(opticnjﬁ[w:

1. A 3Rl R G4 e

2. A 3R R GHa1 TRIFY

3. A I TIE R A TRIFY

4. A 1 TTRIFY R AT

Options :

5362287753. 1
5362287754.2
5362287755.3
5362287756. 4

Question Number : 140 Question Id : 5362281990 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TeTad A+ §fY B o1&l ;

§i0-1:  SBRITERE dEE-E 34l el HRI GHiTH dEiGHal AHEs HEh RE!
TGS TG ST |

d0-1:  SBR aRISTR FRFGRE! By afaisn seriEE seHE|
Tieitard g §fAmRE TR TEEE! (option) FHTEH T4

1. 13RI 1 HHE e
2. 1 3R 1 J=a1 TR
3. 1311 T 11 3 TR
4. 13 TIRIFY 11 3 71&

Options :

5362287757. 1
5362287758. 2
5362287759. 3
5362287760. 4

Question Number : 140 Question Id : 5362281990 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

MEMEE HH 9% §HY Gl -

di9-1: BRI AERIE SR 4l el HRI GHhiH dEiHar HEs HEh RE!
UICEIRICEICIE SRR

d0-1:  9BR GRISTR TFGRE BIYHET Al aeEiEE sRHErE|
TIeiard g™ §ihRE TRIE TEEE! (option) TR 904 :

1. 13RI 1 HHEE e
2. 13RI 1 g1 TR
3. 1311 71 11 31 TRy
4. 131 TR 11 31 e

Options :
5362287757. 1
5362287758. 2



5362287759. 3
5362287760. 4

Sub-Section Number : 2
Sub-Section Id : 53622877
Question Shuffling Allowed : Yes

Question Id : 5362281991 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension

META WG [T BT SAaeREr 5
BIEg! - 1

GRS fg-Tod 4SHAEBRT SRAFG] o JH11| §9ea Wi amieA! ae<abREl gera
ofdl G HFT | §TRTTR™ GRAF 4F- ARRGRE! SRR ol /| J/a-1 |l gaardl
BREN SRAF] GaEEEn JW GEE S eREEn gmea i e TeE|
SRAFRRE! ARl HYTS G BASEHRI B HA1 - T TSiel W4 94, BIY Teiar
W W ST T T Eie el s |

IRAEPRE! SFal fGA1E 4R [§aF Yo arl arml &g WRIH & aEe-T g
[SaF WaE S a9 SR SETEHEmE AVGIaE Saa-EE] SEE
AIRGied SHFATH &A1a ST AiFrEE | 4R fTammE REnE fRifsaae aEt 38t o)l
3 Rifearg BRI Tani STRarEE |

TGl fGAT SRAFERAT AT YT ST G OEe-T gFEEA g SRarE
R PWHRI IS HHA|

Sub questions

Question Number : 141 Question Id : 5362281992 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

ORENG AFRERT SRaER SE {4
ﬁ{@ptfon}@m:

1. qlglH _qi-ﬁl
2. AFEHR
3. TIdER TYHR]

4, T BRI

Options :

5362287761. 1
5362287762. 2
5362287763. 3
5362287764. 4

Question Number : 142 Question Id : 5362281993 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

SRIFAHRT HYTS -1 URE! Jr91 gl
ﬁé‘{opticn]@?ﬂ'@:

1. SRAEHRE!

2. YUThIRE!

3. AREHRE!

4. TGER W@l
Options :
5362287765. 1
5362287766. 2

5362287767. 3
5362287768. 4

Question Number : 143 Question Id : 5362281994 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

AEE! SiSiel—wr Sieny Waa- ;
W{Upticn]@m:

1. GHENHE Ty
2. HFTGIHIETE HETRS
3. gIeT-whE @iad

4, HITRAFETT SmTersl

Options :

5362287769. 1
5362287770. 2
5362287771. 3
5362287772. 4

Question Number : 144 Question Id : 5362281995 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

feraT Wa-g urd 91 WieEis o EHT ATS i
ﬁﬁ{opticn)ﬁ['ﬂm@:

YIdgsci]
REIEICy]
E LNl

Options :

5362287773. 1
5362287774. 2
5362287775. 3
5362287776. 4

W Mo

=

Question Number : 145 Question Id : 5362281996 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



IRATERRE] HHT U AU & 9EAH dEad
ﬁ(opticnj@ﬂm@:

1. TMegA g1
2. Wleed gl
3. @i gl
4, HETHE AR BH

Options :

5362287777. 1
5362287778. 2
5362287779. 3
5362287780. 4

Question Id : 5362281991 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (141 to 145)

Question Label : Comprehension



META BTG G B SHEae REr fr
BIREra! - 1

WIS feTed S9HE®RI SRAFR] 9H G411 899G Wi 9@ieA! ae-bRial Serd
ofdl GiH1 AT SR TRA GREF YHE ARG RIE SRAS] @H e[| 8- Jil cadrdl
BREY IRAMh] GRmEET 96l QA Y BREEl  EEEal JEE e
IRAERE AR GUE 1 BA9EmRI W 8441 - TG TSl W9 W4, By siar
W W HTHET YT T Eia el e 1

IRATRRE! AR fG-d URY faaH Waag dil dill &g YR ¢ daeq] s |
fSaq WaEe HE Tl 91 AR SFTEAEEE ANGias Waai-andHl HEH
AIRalsa Hrar- &1 IREFT FiHEEH | 4RM f9aHE [ e aEi 98t HR
31 fifeerarg s R Trani SaaraE|

el G919 SRAEERE 9991 919 991 G G@ed gREEE giHAH SR
IR PHRI gSHH|

Sub questions

Question Number : 141 Question Id : 5362281992 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GRS IHHRT SRS S G4 :
ﬂg{[}ption}@w:

1. CIEHIBRI

2. TR

3. AdER TYHRT
4, @Y TABRT

Options :



5362287761. 1
5362287762. 2
5362287763. 3
5362287764. 4

Question Number : 142 Question Id : 5362281993 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

SRIFAHRT HYT3 G YRG! H1 81l :
ﬁﬁ{optiﬂn]“@w:

1. ARCEHE!

2. YOTHRE!

3. IREHIRE!

4, AGER BIE!
Options :
5362287765. 1
5362287766. 2

5362287767. 3
5362287768. 4

Question Number : 143 Question Id : 5362281994 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ﬁ{optienjﬁm:

1. GHEMHE JE
2. HFTGIHBR TR
3. WgT-whE @rand

4. JAFTHET e

Options :



5362287769. 1
5362287770. 2
5362287771. 3
5362287772. 4

Question Number : 144 Question Id : 5362281995 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[T a1 I HI WIeHle SHH ATS HI
fﬁ{npticn)ﬁiw:

Yldigeci]
Tafgie
BNl
Options :
5362287773. 1
5362287774.2

5362287775. 3
5362287776. 4

W Mo

=

Question Number : 145 Question Id : 5362281996 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

IRAFGRE AF YT AFYE € 9E-- aEaH - .
e (opticn) Wl 95

1. MegHA g1
2. Sleed gH1
3. @i gt
4, HWTHE AR EH

Options :
5362287777. 1



5362287778. 2
5362287779. 3
5362287780. 4

Sub-Section Number : 3
Sub-Section Id : 53622878
Question Shuffling Allowed : Yes

Question Id : 5362281997 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (146 to 150)

Question Label : Comprehension

TR FRIEERE BRIGAT SHAOeRE! 5
BRG] - 2

el Fgar 9rd e1a1 wrlieH fe-aid Reai|E | I 90 9% 391G MaaRH FEw
YR TUGRE! dHH WIAE S8 MYHE g AERdHE| 99 4R Gy g
HIRE! SHI MUHA $STd GFAF Taal G- 9% faE SeaH= IR | Hes
&g SUTE T gilear| R o SHIEE 819 R B TeIBRIS! § TE MYEEH!
& ! B | 9l e §9urg B! giAl BArmE! A Tl 3l Si|ie difel  EEEd |
ISl GHE AfHEEl SRaEHEl YRl aeE 9RME aUiE SEEEBE T SR
AN cEaREEd | dFErE fBgeR Ge el erRM Saud seerl gFER
G|

Sub questions

Question Number : 146 Question Id : 5362281998 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



fﬁ{npticn)"@:’[ﬂw:

1. ITH FemH
2. 98 gE1 WG fgaad=
4

3, U SaTgHH
T AR §YHE

Options :

5362287781. 1
5362287782.2
5362287783. 3
5362287784. 4

Question Number : 147 Question Id : 5362281999 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fe=<Tra1 ATaR HER giaiHH |

ﬁ{opticnj?ﬁ[w:
1. TifUETR™

2. G T

3. QT T

4. ST M

Options :

5362287785. 1
5362287786. 2
5362287787. 3
5362287788. 4

Question Number : 148 Question Id : 5362282000 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
fg=TTa1 Gia YF/IIG SR MYME 9R BeHHE
| (option) W 9o

REAIIN

=5, =,

_5
frar
Options :
5362287789. 1
5362287790. 2

5362287791. 3
5362287792. 4

- E

Question Number : 149 Question Id : 5362282001 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
fg=airal faRg s Td Al dreiHIA -

=

Tﬁ{mptionj@m:

1. STYTET

2. TH&ARal
3. G RN
4. YTASIRE!

Options :

5362287793. 1
5362287794. 2
5362287795. 3
5362287796. 4

Question Number : 150 Question Id : 5362282002 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



RBRA BIYEAY s-iced Ggal ¢a1a :
ﬁg{option)@m:

Options :

5362287797. 1
5362287798. 2
5362287799. 3
5362287800. 4

Question Id : 5362281997 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension

e PRGN PRIGA SAahRE!
BRG] - 2

el el 9 g1 areH fed faeaeEE | 9 g 9Fee 991d MaaRE T8
UREY TUTHRE! dHF @i S MUHE g1 sierae™H| faa R gurdr g@t
HIRE &HT MY SSTd G el g 91 [EH SraaF A | 9w
GRg &aTd TeigAT giear | T & gHTEA! 816 §RAT A TCITBRE! § T MYFETE!
Gl Ay | foat el 99 BRE! §iFl hAraw! 9 |l Jil Sidie are @eEad |
IS HE AieHEEl REEF! YRl aeH ORI SaEmE T gy
YEREM graEaHE | e g e SR gerf Saud geent g
il



Sub questions

Question Number : 146 Question Id : 5362281998 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ﬁﬁ{apticn)"@:’[ﬂw:

1. ITH FemH
2. 98 gE1 WG fgaad=
4

3, U SaTgHH
T AR §YHE

Options :

5362287781. 1
5362287782.2
5362287783. 3
5362287784. 4

Question Number : 147 Question Id : 5362281999 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fe=<Tra1 ATaR HER giaiHH |

ﬁ{opticnj“@w:
1. TifUETR™

2. G T

3. QT T

4, S A

Options :
5362287785. 1
5362287786. 2



5362287787. 3
5362287788. 4

Question Number : 148 Question Id : 5362282000 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fg=oTrat giieTg YHMEE GH MYHE IR belHE |
ﬁﬁ{mpticﬂjﬂ@i’fw:

B
2. 3CHR
3. gdlghid
4. faami
Options :
5362287789. 1
5362287790. 2

5362287791. 3
5362287792. 4

Question Number : 149 Question Id : 5362282001 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
fg=airal faRg s Td Al dreiHIA -

=

Tﬁ{mptionj@m:

1. STYTET

2. TH&ARal
3. G RN
4. YTASIRE!

Options :

5362287793. 1
5362287794. 2
5362287795. 3




5362287796. 4

Question Number : 150 Question Id : 5362282002 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

WHRH BIYTAY s™ice Rgar ¢ad :
ﬁ{opticnj@ﬂm@:

Options :

5362287797. 1
5362287798. 2
5362287799. 3
5362287800. 4



